| | | Notice for app | | | | | | | | | | | | |
|-------|---|--------------------------|--------------------|--|---|-------------------------|--------------|------------------------------|-------------------|---|---|------------------------------|---|--------------------------------------|
| | BPCL propose | es to appoint Ret | ail Outlet d | lealers in A | ndhra Prades | <mark>h (State</mark>) | , as per fol | lowing deta | ails: | | | | | |
| SI. M | No. Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | iemnsion (in I (in Sq M)* | M) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| | | | Regular / Rural | MS+HSD in Kls | SC / SC CC 1 / SC PH / ST /ST CC 1 / ST PH /OBC /OBC CC 1 /OBC PH /OPEN /OPEN CC 1 /OPEN CC 2 /OPEN PH | CC / DC / CFS | Frontage | Depth | Area | Estimated working capital requirement for operation of RO (Rs in Lakhs) | Estimated fund required for development of infrastructure at RO (Rs in Lakhs) | Draw of Lots / Bidding | | |
| 1 | WITHIN KUNAVARAM VILLAGE LIMITS (NOT ON SH AND NOT ON NH) | ALLURI SITHARAMA RAJU | Rural | 65 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 2 | ON NH-42 FROM ANANTAPUR TOWN SUNRAY HOSPITAL WITHIN 6 KMS TOWARDS URAVANKONDA (ON EITHER SIDE) | ANANTHAPURAMU | Regular | 157 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 5 |
| 3 | ON SH WITHIN 4 KMS FROM GOOTY APSRTC BUS STAND ON PATTIKONDA ROAD (ON EITHER SIDE) | ANANTHAPURAMU | Regular | 145 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 4 | ON NH WITHIN TADIPATRI MUNICIPAL LIMITS | ANANTHAPURAMU | Regular | 240 | OBC | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 4 |
| 5 | ON NH-44 WITHIN ANANTAPUR TOWN LHS TOWARDS BANGALORE BETWEEN KALYANDURG BYPASS JN TO 4TH TOWN PS | ANANTHAPURAMU | Regular | 285 | OPEN | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 5 |
| 6 | ON NH-67 WITHIN 4 KMS FROM APSPDC SUB STATION, CHUKKALURU TOWARDS GOOTY (ON EITHER SIDE) | ANANTHAPURAMU | Regular | 157 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 7 | ON NH-44 LHS TOWARDS BANGALORE BETWEEN MGB KIA SHOWROOM TO MARUR TOLL PLAZA | ANANTHAPURAMU | Regular | 170 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 8 | ON SH BETWEEN BHOGASAMUDRAM AND YADIKI WITHIN 10 KM FROM ULTRATECH CEMENT PLANT (ON EITHER SIDE) | ANANTHAPURAMU | Regular | 165 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 9 | ON SH WITHIN GUNTAKAL TOWN LIMITS - FROM HANUMAN STATUE LHS TOWARDS ALUR | ANANTHAPURAMU | Regular | 175 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 10 | 0 WITHIN ANANTAPUR MUNICIPAL LIMITS (NOT ON NH AND SH) | ANANTHAPURAMU | Regular | 235 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 11 | 1 ON NH-67 FROM GUNTAKAL IOCL DEPOT TO APSWR SCHOOL RAJAPURAM (ON EITHER SIDE) | ANANTHAPURAMU | Regular | 150 | SC PH | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 12 | 2 ON NH-67 FROM JODI DHARMAPURAM TOLL PLAZA TO ZP HIGH SCHOOL RAYALACHERUVU (ON EITHER SIDE) | ANANTHAPURAMU | Regular | 151 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 13 | 3 WITHIN TADIPARI TOWN LIMITS FROM SLN THEATRE TOWARDS PUTLURU ON EITHER SIDE (NOT ON NH AND SH) | ANANTHAPURAMU | Regular | 185 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 14 | 4 WITHIN ANANTAPUR TOWN LIMITS FROM SRI SATHYA SAI JUNIOR COLLEGE TO AASHA HOSPITAL (NOT ON NH AND SH) | ANANTHAPURAMU | Regular | 300 | OBC | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 15 | 5 ON NH-544D WITHIN 8 KMS FROM BUGGA ULTRATECH CEMENT PLANT TOWARDS TADIPATRI (ON EITHER SIDE) | ANANTHAPURAMU | Regular | 168 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 16 | 6 WITHIN RAYADURGAM MUNICIPAL LIMITS (NOT ON NH AND SH) | ANANTHAPURAMU | Regular | 133 | OBC CC 1 | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in I (in Sq M)* | M) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|---|------------------|------------|--|-----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 17 | ON NH-44, LHS TOWARDS HYDERABAD, WITHIN 20 KMS FROM YV SIVA REDDY COLLEGE,VADIYAMPETA | ANANTHAPURAMU | Regular | 180 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 18 | WITHIN GUNTAKAL MUNICIPAL LIMITS (NOT ON NH AND SH) | ANANTHAPURAMU | Regular | 175 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 19 | WITHIN ANANTAPUR TOWN FROM VIDYUT NAGAR CIRCLE TO SRI HARIHARA TEMPLE (ASHOK NAGAR) - NOT ON NH/SH | ANANTHAPURAMU | Regular | 260 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 20 | ON SH WITHIN KALYANDURG MUNICIPAL LIMITS (ON EITHER SIDE) | ANANTHAPURAMU | Regular | 105 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 21 | ON NH-544D FROM SRI SAI BABA KALYANA MANDAPAM, ANANTAPUR TO REDDIPALLE (ON EITHER SIDE) | ANANTHAPURAMU | Regular | 160 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 22 | ON NH-544D FROM SRIT COLLEGE, ROTARYPURAM TO NAYANAPALLI CROSS ROADS (ON EITHER SIDE) | ANANTHAPURAMU | Regular | 155 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 23 | WITHIN GOOTY MUNICIPAL LIMITS (NOT ON NH AND SH) | ANANTHAPURAMU | Regular | 145 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 24 | ON NH-544DD FROM KALYANDURG TO GRAMA SACHIVALAYAM AT RAYADURGAM BYPASS (ON EITHER SIDE) | ANANTHAPURAMU | Regular | 165 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 25 | ON NH-544DD RHS TOWARDS KALYANDURG WITHIN 5 KMS FROM NH-44 IN ANANTAPUR | ANANTHAPURAMU | Regular | 185 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 26 | KALLURU TO TARIMELA VILLAGE (NOT ON NH AND SH) | ANANTHAPURAMU | Rural | 105 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 27 | PEDDAPAPPURU VILLAGE, PEDDAPAPPURU MANDAL (NOT ON NH AND SH) | ANANTHAPURAMU | Rural | 60 | OBC | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 28 | PEDDAVADUGURU VILLAGE, PEDDAVADUGURU MANDAL (NOT ON NH AND SH) | ANANTHAPURAMU | Rural | 60 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 29 | ON NH WITHIN RAYACHOTY TOWN LIMITS | ANNAMAYYA | Regular | 192 | OPEN | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 5 |
| 30 | WITHIN RAJAMPETA MUNICIPAL LIMITS (NOT ON NH AND SH) | ANNAMAYYA | Regular | 172 | OBC | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 4 |
| 31 | ON NH-716 WITHIN 8 KM FROM ANANTHARAJUPETA VILLAGE TOWARDS KODURU TOWN (ON EITHER SIDE) | ANNAMAYYA | Regular | 226 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 32 | ON NH-440 WITHIN 3 KM FROM GANDI CIRCLE ON RAYACHOTY TO VEMPALLI ROAD (ON EITHER SIDE) | ANNAMAYYA | Regular | 186 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 33 | ON NH-716 WITHIN 7 KM FROM RTO OFFICE, RAJAMPETA TOWARDS KODURU (ON EITHER SIDE) | ANNAMAYYA | Regular | 199 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 34 | ON SH RAJAMPETA TO RAYACHOTY ROAD WITHIN 6 KM FROM RAJAMPETA OLD BUS STAND (ON EITHER SIDE) | ANNAMAYYA | Regular | 172 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 35 | ON SH WITHIN 5 KM FROM NTR CIRCLE ON KODUR - CHITVEL ROAD (ON EITHER SIDE) | ANNAMAYYA | Regular | 105 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 36 | ON NH-71 WITHIN 5 KM FROM TARIGONDA VENGAMAMBA CIRCLE (MADANAPALLI) ON TIRUPATHI RD (ON EITHER SIDE) | ANNAMAYYA | Regular | 194 | OBC PH | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 37 | ON NH-71 WITHIN 4 KMS FROM PILERU FOUR ROADS CROSS, PILERU (ON EITHER SIDE) | ANNAMAYYA | Regular | 151 | OPEN CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 38 | WITHIN MADANAPALLE TOWN LIMITS (NOT ON NH AND SH) | ANNAMAYYA | Regular | 163 | OBC | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | iemnsion (in I (in Sq M)* | M) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|---|------------------|------------|--|-----------|-------------------|------------|------------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 39 | ON SH BETWEEN BESTHAPALLI AND CHAKRAMPETA ON RAJAMPETA - CHITVEL ROAD (ON EITHER SIDE) | ANNAMAYYA | Regular | 109 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 40 | ON SH BETWEEN SANIPAI CIRCLE (T.SUNDUPALLI) TO MADITHADU VILLAGE (ON EITHER SIDE) | ANNAMAYYA | Regular | 122 | ST | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 41 | WITHIN MADANAPALLE TOWN FROM RTC BYPASS ROAD CIRCLE TO CTM CIRCLE ON OLD BYPASS RD(NOT ON NH AND SH) | ANNAMAYYA | Regular | 172 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 42 | ON SH WITHIN 5 KM FROM BANGLA CIRCLE,GURRAMKONDA ON GURRAMKONDA TO GALIVEEDU ROAD (ON EITHER SIDE) | ANNAMAYYA | Regular | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 43 | ON NH-42 FROM SHRI SAI BABA TEMPLE ON MADANAPALLI BYPASS TILL GOLDEN VALLEY CAMPUS (ON EITHER SIDE) | ANNAMAYYA | Regular | 160 | OPEN CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 44 | ON NH-40 WITHIN 10 KMS FROM RAMAPURAM-LAKKIREDDYPALLI X ROADS TOWARDS RAYACHOTI (ON EITHER SIDE) | ANNAMAYYA | Regular | 158 | SC CC 1 | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 45 | WITHIN CHITTOOR TOWN LIMITS FROM MSR CIRCLE TO NEW COLLECTORATE (NOT ON NH AND SH) | CHITTOOR | Regular | 113 | OBC | СС | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 4 |
| 46 | WITHIN NAGARI TOWN MUNICIPAL LIMITS (NOT ON NH AND SH) | CHITTOOR | Regular | 130 | OBC | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 47 | WITHIN KUPPAM TOWN LIMITS (NOT ON NH AND SH) | CHITTOOR | Regular | 125 | OBC | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 48 | WITHIN CHITTOOR TOWN LIMITS, WITHIN 3 KM DISTANCE FROM GANDHI CIRCLE (NOT ON NH AND SH) | CHITTOOR | Regular | 115 | OBC | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 49 | WITHIN PALAMANER TOWN LIMITS - BETWEEN HOTEL CHARAN AND MAHATMA GANDHI CIRCLE (NOT ON NH AND SH) | CHITTOOR | Regular | 110 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 50 | ON SH FROM VENUGOPALAPURAM TO PACHIKAPALLAM POST OFFICE (ON EITHER SIDE) | CHITTOOR | Regular | 138 | ST | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 51 | ON SH FROM KALAVAGUNTA DAM TO PENUMURU (ON EITHER SIDE) | CHITTOOR | Regular | 105 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 52 | ON SH BETWEEN LADDIGAM TO CHOWDEPALLI ON PUNGANURU-TIRUPATI ROAD (ON EITHER SIDE) | CHITTOOR | Regular | 110 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 53 | DIGUVAPALLE VILLAGE, CHOWDEPALLE MANDAL (NOT ON NH AND SH) | CHITTOOR | Rural | 50 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 54 | SODAM VILLAGE, SODAM MANDAL (NOT ON NH AND SH) | CHITTOOR | Rural | 70 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 55 | WITHIN YEMMIGANUR TOWN LIMITS (NOT ON NH AND SH) | KURNOOL | Regular | 105 | OPEN CC 1 | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 56 | ON NH-44 LHS TOWARDS BANGALORE, BETWEEN KM STONES 214 AND 219 | KURNOOL | Regular | 203 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 57 | ON NH-40 LHS TOWARDS KURNOOL, BETWEEN KM STONES 33 AND 28 | KURNOOL | Regular | 262 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 58 | ON SH WITHIN 3 KM FROM YEMMIGANUR KGN CIRCLE TOWARDS KURNOOL (ON EITHER SIDE) | KURNOOL | Regular | 210 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 59 | WITHIN KURNOOL CITY LIMITS FROM NANDYAL CHECK POST TO DON BOSCO SCHOOL ON LHS TOWARDS NANDYAL | KURNOOL | Regular | 185 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 60 | WITHIN KURNOOL TOWN FROM BALLARI X ROADS TOWARDS KODUMURU (ON EITHER SIDE) | KURNOOL | Regular | 162 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | iemnsion (in M (in Sq M)* | И) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|--|------------------|------------|--|-----------|-------------------|------------|------------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 61 | ON NH-167 LHS FROM LAKSHMAMMA AVVA ARCH, ADONI TO ALI COTTON MILL ON ALUR ROAD | KURNOOL | Regular | 172 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 62 | WITHIN KURNOOL CITY LIMITS ON LHS FROM G.PULLAREDDY DENTAL COLLEGE TO NANDYAL CHECK POST | KURNOOL | Regular | 170 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 63 | WITHIN KURNOOL CITY (NOT ON NH) FROM INDOOR STADIUM TO NH-340C ON JOHARAPURAM ROAD (ON EITHER SIDE) | KURNOOL | Regular | 170 | ST | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 64 | WITHIN KURNOOL CITY LIMITS FROM NEW AYYAPASWAMY TEMPLE TO JOHARAPURAM (ON EITHER SIDE) | KURNOOL | Regular | 164 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 65 | ON SH LHS FROM NEW FLYOVER BRIDGE IN ADONI TO SIRUGUPPA CIRCLE (ON LHS TOWARDS MADHAVARAM) | KURNOOL | Regular | 196 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 66 | ON SH BETWEEN KODUMUR AND VEMUGODU ON YEMMIGANNUR ROAD (ON EITHER SIDE) | KURNOOL | Regular | 101 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 67 | WITHIN KURNOOL CITY LIMITS FROM GAYATHRI ESTATE CIRCLE TO NANDYAL CHECK POST (ON EITHER SIDE) | KURNOOL | Regular | 240 | OPEN | СС | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 68 | ON NH-340C RHS TOWARDS NANDIKOTKUR, BETWEEN KM STONES 8 AND 13 | KURNOOL | Regular | 166 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 69 | ON SH WITHIN VELDURTHY VILLAGE LIMITS | KURNOOL | Regular | 105 | ST | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 70 | WITHIN KURNOOL CITY LIMITS ON RHS FROM TRIGUNA CLARKS INN TO SAI SRINIVASA FUNCTION HALL | KURNOOL | Regular | 162 | OPEN | СС | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 71 | HISSARA MURVARI VILLAGE, PEDDA KADUBUR MANDAL (NOT ON NH AND SH) | KURNOOL | Rural | 115 | OBC | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 72 | SUNKESULA VILLAGE, KURNOOL RURAL MANDAL (NOT ON NH AND SH) | KURNOOL | Rural | 160 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 73 | WITHIN 6 KM FROM KODUMUR VILLAGE ON KODUMUR - VELDURTHY ROAD (NOT ON NH AND SH) | KURNOOL | Rural | 98 | OPEN CC 1 | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 74 | ON SH, BETWEEN BANAGANAPALLE AND PANYAM (ON EITHER SIDE) | NANDYAL | Regular | 115 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 75 | ON NH-340C LHS WITHIN 4 KM FROM JUPADU BUNGLOW TOWARDS ATMAKUR | NANDYAL | Regular | 196 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 76 | WITHIN NANDYAL TOWN LIMITS ON PADMAVATHI NAGAR ROAD ON EITHER SIDE (NOT ON NH AND SH) | NANDYAL | Regular | 177 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 77 | ON NH-544D LHS FROM TELLAPURI TO PASURPADU (ON EITHER SIDE) | NANDYAL | Regular | 155 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 78 | WITHIN 3 KM FROM KOLIMIGUNDLA CIRCLE ON KOLIMIGUNDLA - JAMMALAMADUGU ROAD ON SH | NANDYAL | Regular | 153 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 79 | ON SH BETWEEN GAJULAPALLI AND ELLAVATHULA ON GAJULAPALLI - CHAGALAMARRI ROAD (ON EITHER SIDE) | NANDYAL | Regular | 117 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 80 | NANDYAL TOWN LIMITS FROM NH 40 FLYOVER TO NANDYAL TOWN AUTONAGAR ON OLD HIGHWAY ROAD | NANDYAL | Regular | 170 | OBC | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 81 | ON NH-40 LHS TOWARDS NANDYAL, BETWEEN KM STONES 86 AND 81 | NANDYAL | Regular | 150 | OPEN CC 2 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 82 | ON SH BETWEEN VENKATESWARAPURAM CROSS (ON NH-40) TO POLUR ON JINDAL ROAD (ON EITHER SIDE) | NANDYAL | Regular | 130 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in I (in Sq M)* | Л) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|---|--------------------------------|------------|--|----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 83 | ON SH WITHIN VELUGODU VILLAGE LIMITS, VELUGODU MANDAL (ON EITHER SIDE) | NANDYAL | Regular | 105 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 84 | ON SH BETWEEN RUDRAVARAM AND CHAGALAMARRI (ON EITHER SIDE) | NANDYAL | Regular | 113 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 85 | ON SH BETWEEN NANDIKOTKUR AND MIDTHUR WITHIN 5 KM FROM NH-340C IN NANDIKOTKUR (ON EITHER SIDE) | NANDYAL | Regular | 110 | ST PH | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 86 | ON NH-167K BETWEEN BANDI ATMAKUR TO VELUGODU (ON EITHER SIDE) | NANDYAL | Regular | 153 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 87 | ON NH-40 LHS TOWARDS NANDYAL, BETWEEN KM STONES 91 AND 96 | NANDYAL | Regular | 164 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 88 | ON NH-167K BETWEEN KOILKUNTLA AND NOSSAM (ON EITHER SIDE) | NANDYAL | Regular | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 89 | ON NH-340C RHS TOWARDS ATMAKUR, BETWEEN KM STONES 55 AND 65 | NANDYAL | Regular | 200 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 90 | ON NH-167K FROM CHINTAKUNTA TO KOILKUNTLA (ON EITHER SIDE) | NANDYAL | Regular | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 91 | FROM AYYALUR MITTA CIRCLE, NANDYAL TO NH-40 VIA NAVAJEEVAN SCHOOL ROAD (ON EITHER SIDE) | NANDYAL | Regular | 100 | OBC | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 92 | YERRAGUNTLA VILLAGE, SIRIVELLA MANDAL (NOT ON NH AND SH) | NANDYAL | Rural | 135 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 93 | YALLUR VILLAGE, GOSPADU MANDAL (NOT ON NH AND SH) | NANDYAL | Rural | 122 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 94 | FROM SIRVELLA VILLAGE TO NH-40 ON SIRVELLA ELECTRICAL SUBSTATION ROAD (NOT ON NH AND SH) | NANDYAL | Rural | 142 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 95 | WITHIN NELLORE CITY ON MYPADU ROAD FROM OLD PENNA RIVER BRIDGE TO 3RD MILE CENTRE (ON EITHER SIDE) | SRI POTTI SRIRAMULU NELLORE | Regular | 190 | OBC | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 4 |
| 96 | WITHIN NELLORE CITY ON MINI BYPASS ROAD BETWEEN MAGUNTA LAYOUT CIRCLE AND ANR FUNCTION HALL CENTRE | SRI POTTI SRIRAMULU NELLORE | Regular | 250 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 97 | ON SH FROM PODALKUR TO RAPUR (ON EITHER SIDE) | SRI POTTI SRIRAMULU NELLORE | Regular | 125 | ST | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 98 | WITHIN NELLORE CITY LIMITS ON GOLAGAMUDI ROAD FROM ISKON ARCH TOWARDS NH-16 (NOT ON NH) | SRI POTTI SRIRAMULU NELLORE | Regular | 250 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 99 | ON SH BETWEEN DHANALAKSHIPURAM AND BRAHMADEVAM VILLAGE ON MUTHUKURU ROAD (ON EITHER SIDE) | SRI POTTI SRIRAMULU NELLORE | Regular | 140 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 100 | ON SH FROM JALADANKI TO CHINNA ANNALURU VIA THIMMASAMUDRAM (ON EITHER SIDE) | SRI POTTI SRIRAMULU NELLORE | Regular | 110 | ST PH | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 101 | WITHIN KAVALI TOWN LIMITS (NOT ON NH AND SH) | SRI POTTI SRIRAMULU NELLORE | Regular | 190 | OBC | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 102 | ON SH BETWEEN KALIGIRI AND SANGAM ON HASANAPURAM VILLAGE WITHIN 5KM RADIUS (ON EITHER SIDE) | SRI POTTI SRIRAMULU NELLORE | Regular | 110 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 103 | WITHIN NELLORE CITY LIMITS - ON LHS FROM VRC CENTRE TO KENDRIYA VIDYALAYA VIA ALANKAR CENTRE | SRI POTTI SRIRAMULU NELLORE | Regular | 190 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 104 | WITHIN NELLORE CITY LIMITS BETWEEN CHILDRENS PARK JN ON NH-16 TO CHILDRENS PARK ON RHS (NOT ON NH) | SRI POTTI SRIRAMULU NELLORE | Regular | 280 | OPEN | СС | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in N (in Sq M)* | /) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|--|--------------------------------|------------|--|-----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 105 | WITHIN NELLORE CITY LIMITS ON NH-16 LINK ROAD TOWARDS KOTHAKULAVA JUNCTION (KODURUPADU ROAD) | SRI POTTI SRIRAMULU NELLORE | Regular | 260 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 106 | ON NH-16 LHS TOWARDS CHENNAI BETWEEN BUJA BUJA NELLORE TO VENKATACHALAM TOLL GATE | SRI POTTI SRIRAMULU NELLORE | Regular | 410 | OPEN PH | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 107 | WITHIN NELLORE CITY ON NH-16 LHS FROM MEDICOVER HOSPITAL TO KONDAYAPALEM - GOLAGAMUDI ROAD JUNCTION | SRI POTTI SRIRAMULU NELLORE | Regular | 380 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 108 | ON NH -16 LHS TOWARDS NELLORE FROM MUSUNUR TOLL PLAZA TO ULAVAPALLA FLY OVER | SRI POTTI SRIRAMULU NELLORE | Regular | 180 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 109 | WITHIN NELLORE CITY LIMITS FROM KVR CIRCLE TO NHAI OFFICE ON GNT ROAD (ON EITHER SIDE) | SRI POTTI SRIRAMULU NELLORE | Regular | 230 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 110 | WITHIN NELLORE CITY LIMITS BETWEEN CHILDRENS PARK JN ON NH-16 TO CHILDRENS PARK ON LHS (NOT ON NH) | SRI POTTI SRIRAMULU NELLORE | Regular | 270 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 111 | ON NH-16 LHS TOWARDS ONGOLE FROM MUSUNUR TOLL GATE TO TETTU | SRI POTTI SRIRAMULU NELLORE | Regular | 250 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 112 | ON NH 16 LHS TOWARDS NELLORE BETWEEN BMR INDUSTRIES AND SIEMENS FACTORY | SRI POTTI SRIRAMULU NELLORE | Regular | 180 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 113 | ON NH-16 LHS TOWARDS ONGOLE FROM NEW PENNA RIVER BRIDGE TO KAMMAPALEM | SRI POTTI SRIRAMULU NELLORE | Regular | 240 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 114 | WITHIN NELLORE CITY LIMITS - FROM BATWADIPALEM CENTRE TO ATMAKUR BUS STAND VIA WALKERS ROAD | SRI POTTI SRIRAMULU NELLORE | Regular | 160 | OPEN | СС | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 115 | ON SH TOWARDS KANIGIRI WITHIN KANDUKURU TOWN MUNICIPAL LIMITS (ON EITHER SIDE) | SRI POTTI SRIRAMULU NELLORE | Regular | 120 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 116 | ON NH-16 LHS TOWARDS NELLORE FROM TETTU TO MUSUNUR TOLL GATE | SRI POTTI SRIRAMULU NELLORE | Regular | 180 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 117 | ON NH-565 BETWEEN TEGACHARLA AND CHUNCHULURU (ON EITHER SIDE) | SRI POTTI SRIRAMULU NELLORE | Regular | 160 | OPEN CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 118 | ON NH-16 RHS TOWARDS CHENNAI BETWEEN BUJA BUJA NELLORE TO VENKATACHALAM TOLL GATE | SRI POTTI SRIRAMULU NELLORE | Regular | 180 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 119 | ON NH-167BG BETWEEN JALADANKI TO KALIGIRI (ON EITHER SIDE) | SRI POTTI SRIRAMULU NELLORE | Regular | 160 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 120 | ON NH-167BG WITHIN 10 KMS FROM DUTTALUR TOWARDS VINJAMUR (ON EITHER SIDE) | SRI POTTI SRIRAMULU NELLORE | Regular | 160 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 121 | ON SH WITHIN KALUVAI VILLAGE & MANDAL | SRI POTTI SRIRAMULU NELLORE | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 122 | ON NH-16 LHS TOWARDS CHENNAI FROM MANNERU LAKE BRIDGE TO CHAGOLLU | SRI POTTI SRIRAMULU NELLORE | Regular | 190 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 123 | ON SH BETWEEN KANDUKURU AND GUDLUR (ON EITHER SIDE) | SRI POTTI SRIRAMULU NELLORE | Regular | 190 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 124 | ON SH WITHIN KAVALI TOWN MUNICIPAL LIMITS | SRI POTTI SRIRAMULU NELLORE | Regular | 190 | OBC PH | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 4 |
| 125 | ON NH-167B BETWEEN KANDUKUR AND VALETIVARIPALEM (ON EITHER SIDE) | SRI POTTI SRIRAMULU NELLORE | Regular | 190 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 126 | ON NH-67 FROM GOVERNMENT POLY TECHNIC COLLEGE, ATMAKUR TO DC PALLI TOLL PLAZA (ON EITHER SIDE) | SRI POTTI SRIRAMULU NELLORE | Regular | 160 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in I (in Sq M)* | M) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|--|--------------------------------|------------|--|-----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 127 | ON SH JONNAVADA ROAD FROM BUCHIREDDYPALEM TO NELLORE (OUTSIDE NELLORE CITY LIMITS) ON EITHER SIDE | SRI POTTI SRIRAMULU NELLORE | Regular | 110 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 128 | ON NH-167B FROM KANDUKURU TOWN TO SINGARAYAKONDA ON EITHER SIDE (WITHIN NELLORE DISTRICT) | SRI POTTI SRIRAMULU NELLORE | Regular | 170 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 129 | ON SH WITHIN AMANCHARLA VILLAGE LIMITS, PODALAKUR MANDAL | SRI POTTI SRIRAMULU NELLORE | Regular | 110 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 130 | WITHIN NELLORE CITY LIMITS ON NH-16, LHS FROM CHILDRENS PARK JUNCTION TO NEW PENNA RIVER BRIDGE | SRI POTTI SRIRAMULU NELLORE | Regular | 180 | OBC | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 4 |
| 131 | WITHIN ATMAKUR TOWN LIMITS (NOT ON NH AND SH) | SRI POTTI SRIRAMULU NELLORE | Regular | 120 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 132 | INAMADUGU VILLAGE, KOVUR MANDAL (NOT ON NH AND SH) | SRI POTTI SRIRAMULU NELLORE | Rural | 100 | OBC | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 133 | VALETIVARIPALEM VILLAGE & MANDAL (NOT ON NH AND SH) | SRI POTTI SRIRAMULU NELLORE | Rural | 80 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 134 | SINGAPETA VILLAGE, ALLUR MANDAL (NOT ON NH AND SH) | SRI POTTI SRIRAMULU NELLORE | Rural | 100 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 135 | ON SH IN KOTHACHERUVU VILLAGE, KOTHACHERUVU MANDAL (ON EITHER SIDE) | SRI SATHYA SAI | Regular | 110 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 136 | ON SH WITHIN KADIRI TOWN LIMITS (ON EITHER SIDE) | SRI SATHYA SAI | Regular | 145 | OBC | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 4 |
| 137 | WITHIN DHARMAVARAM MUNICIPAL LIMITS (NOT ON NH/SH) | SRI SATHYA SAI | Regular | 175 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 138 | ON NH-44 LHS TOWARDS BANGALORE FROM MARUR TOLL PLAZA TO PALASAMUDRAM JUNCTION | SRI SATHYA SAI | Regular | 165 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 139 | WITHIN HINDUPUR MUNICIPAL LIMITS (NOT ON NH AND SH) | SRI SATHYA SAI | Regular | 130 | OBC | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 140 | ON SH WITHIN 5 KM FROM DHARMAVARAM MRO OFFICE TOWARDS MAMILLAPALLI (ON EITHER SIDE) | SRI SATHYA SAI | Regular | 135 | SC CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 141 | WITHIN KADIRI MUNICIPAL LIMITS (NOT ON NH AND SH) | SRI SATHYA SAI | Regular | 181 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 142 | ON NH-42 WITHIN KADIRI MUNICIPAL LIMITS (ON EITHER SIDE) | SRI SATHYA SAI | Regular | 185 | OBC | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 4 |
| 143 | ON SH WITHIN 3 KMS FROM MUDIGUBBA TOWARDS PULIVENDULA (ON EITHER SIDE) | SRI SATHYA SAI | Regular | 135 | ST | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 144 | ON NH-42 WITHIN 5 KMS FROM SDRR DEGREE COLLEGE, MUDIGUBBA TOWARDS KADIRI (ON EITHER SIDE) | SRI SATHYA SAI | Regular | 165 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 145 | WITHIN HINDUPUR TOWN FROM RAVINDRA BHARATHI SCHOOL TO II TOWN POLICE STATION (NOT ON NH AND SH) | SRI SATHYA SAI | Regular | 145 | OPEN PH | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 146 | WITHIN TIRUPATI CITY LIMITS ON RHS FROM MR PALLI PS TO TELUGU TALLI CIRCLE VIA TUMMALAGUNTA RD | TIRUPATI | Regular | 155 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 147 | ON SH WITHIN TIRUPATI CITY LIMITS FROM ANNAMAYYA CIRCLE TO AVILALA JUNCTION | TIRUPATI | Regular | 180 | OPEN | СС | 20 | 20 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 148 | ON SH WITHIN TIRUPATI CITY LIMITS ON RHS FROM LEELAMAHAL CIRCLE TO MANGALAM (ON MANGALAM ROAD) | TIRUPATI | Regular | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in M (in Sq M)* | Л) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|--|------------------|------------|--|-----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 149 | ON SH BETWEEN CHITTEDU AND NH-16 ON GUDUR-DUGGARAJAPATNAM ROAD (ON EITHER SIDE) | TIRUPATI | Regular | 115 | SC CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 150 | WITHIN SRIKALAHASTI TOWN LIMITS FROM RAMA SETHU BRIDGE TO NH-71 JN NEAR 2-TOWN PS(NOT ON NH AND SH) | TIRUPATI | Regular | 120 | OBC | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 151 | WITHIN TIRUPATI CITY LIMITS FROM NANDI CIRCLE-KAPILA TIRTHAM TO GHANTASALA CIRCLE ON KT ROAD | TIRUPATI | Regular | 150 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 152 | WITHIN TIRUPATI CITY LIMITS FROM LEELAMAHAL CIRCLE TO ALIPIRI GARUDA CIRCLE VIA NANDI CIRCLE | TIRUPATI | Regular | 165 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 153 | ON NH, LHS FROM TIRUPATI TO RENIGUNTA BETWEEN RAMANUJAM CIRCLE AND RENIGUNTA CIRCLE | TIRUPATI | Regular | 225 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 154 | WITHIN TIRUPATI CITY LIMITS FROM ALIPIRI GARUDA CIRCLE TO LEELAMAHAL JUNCTION - VIA NTR CIRCLE | TIRUPATI | Regular | 155 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 155 | ON NH LHS FROM TONDAVADA TRIPLE HIGHWAY JUNCTION, TIRUPATI TO KLM BUS STOP | TIRUPATI | Regular | 220 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 156 | WITHIN TIRUPATI CITY LIMITS FROM RTC BUS STAND TO RAMEE GUESTLINE HOTEL, TIRUPATI VIA SAMAVAI ROAD | TIRUPATI | Regular | 150 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 157 | WITHIN TIRUPATI CITY LIMITS ON RHS FROM CHERLOPALLI JUNCTION TO TOWN CLUB | TIRUPATI | Regular | 150 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 158 | ON OLD NH - RHS TOWARDS SRIKALAHASTI WITHIN 3 KM FROM NAIDUPETA BUS STAND, NAIDUPETA | TIRUPATI | Regular | 155 | OBC | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 4 |
| 159 | WITHIN GUDUR TOWN LIMITS BETWEEN CERAMIC COLLEGE TO GANDHI NAGAR TIDCO HOUSES (NOT ON NH AND SH) | TIRUPATI | Regular | 107 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 160 | ON SH FROM FIRE STATION IN VENKATAGIRI TO PADMASALI KALYANA MANDAPAM VIA VENKATAGIRI FORT | TIRUPATI | Regular | 130 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 161 | ON SH WITHIN TIRUPATI CITY LIMITS ON LHS FROM SPRINGS HOTEL TO LAKSHMIPURAM CIRCLE ON TIRUCHANUR RD | TIRUPATI | Regular | 160 | ST CC 1 | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 162 | ON NH-140 LHS FROM GADANKI TO TONDAVADA TRIPLE HIGHWAY JUNCTION | TIRUPATI | Regular | 185 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 163 | ON NH-71 RHS FROM NELUBALLI TO CHIGURUPADU | TIRUPATI | Regular | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 164 | ON NH-71 RHS FROM GURAVARAJUPALLI SACHIVALAYAM TO YERPEDU | TIRUPATI | Regular | 155 | OPEN CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 165 | ON NH-71 LHS FROM RANGAMPET TO SRINIVASA MANGAPURAM | TIRUPATI | Regular | 160 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 166 | ON NH-565 RHS FROM YERPEDU TO VENKATAGIRI | TIRUPATI | Regular | 165 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 167 | ON SH FROM BRAHMANAGUNTA CHERUVU NEAR KOTHAPALEM TO MUNAGALAPALLEM (ON EITHER SIDE) | TIRUPATI | Regular | 115 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 168 | ON SH BETWEEN NTR NAGAR, SRIKALAHASTI TO LAKSHMIVILASAPURAM CROSS ON PITCHATUR ROAD(ON EITHER SIDE) | TIRUPATI | Regular | 105 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 169 | ON NH-716 FROM AMARA HOSPITAL TO MAMANDURU (ON EITHER SIDE) | TIRUPATI | Regular | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 170 | WITHIN SULLURUPETA TOWN LIMITS (NOT ON NH AND SH) | TIRUPATI | Regular | 120 | ST | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | iemnsion (in I (in Sq M)* | M) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|---|------------------|------------|--|-----------|-------------------|------------|------------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 171 | ON SH BETWEEN YERRAVARIPALEM TO NERABAILU ON TALAKONA ROAD (ON EITHER SIDE) | TIRUPATI | Regular | 115 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 172 | ON SH WITHIN 3 KM FROM BUILTUP CIRCLE IN KADAPA TOWARDS PULIVENDULA (ON EITHER SIDE) | Y.S.R | Regular | 181 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 173 | WITHIN PULIVENDULA TOWN LIMITS ON RING ROAD (NOT ON NH AND SH) | Y.S.R | Regular | 167 | OPEN CC 2 | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 174 | ON NH-716G BETWEEN MUDDANUR CIRCLE (PULIVENDALA) AND NEW RAYALAPURAM BRIDGE (ON EITHER SIDE) | Y.S.R | Regular | 188 | ST | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 175 | ON NH-440 BETWEEN VASAVI CIRCLE, PRODDATURU TO YERRAGUNTLA CIRCLE, YERRAGUNTLA (ON EITHER SIDE) | Y.S.R | Regular | 210 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 176 | ON SH FROM FOUR ROADS JUNCTION IN VEMPALLI TO VEMULA VILLAGE (ON EITHER SIDE) | Y.S.R | Regular | 182 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 177 | ON SH WITHIN 4 KMS FROM AMBEDKAR CIRCLE IN PORUMAMILLA TOWARDS BADVEL (ON EITHER SIDE) | Y.S.R | Regular | 154 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 178 | WITHIN PRODDATURU MUNICIPAL LIMITS (NOT ON NH AND SH) | Y.S.R | Regular | 182 | OPEN | СС | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 179 | ON SH FROM VASAVI CIRLE IN PRODDUTUR TO YVR VIJAYA CONVENTION HALL (ON EITHER SIDE) | Y.S.R | Regular | 182 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 180 | ON NH-716 RHS TOWARDS KADAPA BETWEEN KAMALAPURAM AND KADAPA ALAMKHANPALLI CIRCLE | Y.S.R | Regular | 193 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 181 | ON SH WITHIN BADVEL TOWN LIMITS 5 KMS FROM FOUR ROADS JN TOWARDS SIDDAVATAM ROAD (ON EITHER SIDE) | Y.S.R | Regular | 228 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 182 | ON SH WITHIN VELIDANDLA VILLAGE, LINGALA MANDAL ON PULIVENDULA-PARNAPALLI ROAD (ON EITHER SIDE) | Y.S.R | Regular | 114 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 183 | WITHIN KADAPA TOWN LIMITS (NOT ON NH AND SH) | Y.S.R | Regular | 149 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 184 | ON NH-67 WITHIN 3 KM BETWEEN OBANNAPETA VILLAGE AND THIMMAPURAM CROSS (ON EITHER SIDE) | Y.S.R | Regular | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 185 | ON NH WITHIN PRODDATURU TOWN LIMITS | Y.S.R | Regular | 182 | OPEN | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 5 |
| 186 | ON NH-40 WITHIN KADAPA TOWN BETWEEN ITI CIRCLE AND ALAMKHANAPALLI CIRCLE (ON EITHER SIDE) | Y.S.R | Regular | 165 | OPEN | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 5 |
| 187 | WITHIN KADAPA TOWN FROM APSARA CINEMAS TO MSA MOTORS ON TIRUPATHI ROAD (NOT ON NH AND SH) | Y.S.R | Regular | 142 | OBC | СС | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 4 |
| 188 | ON NH-716 LHS TOWARDS TIRUPATI FROM CENTRAL PRISON IN KADAPA TO JMJ CIRCLE | Y.S.R | Regular | 198 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 189 | ON NH-167K BETWEEN GUNDLAKUNTA AND UPPALAPADU (ON EITHER SIDE) | Y.S.R | Regular | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 190 | ON NH-716 FROM VENKATESWARA SWAMY TEMPLE,CHILAMKURU TO RTC BUS STAND, YERRAGUNTLA (ON EITHER SIDE) | Y.S.R | Regular | 194 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 191 | ON NH-167B BETWEEN AMAGAMPALLI VILLAGE TO KESAVAPURAM VILLAGE (ON EITHER SIDE) | Y.S.R | Regular | 152 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 192 | ON NH-67 LHS FROM TTD KALYANA MANDAPAM, MYDUKURU TO G.V SATRAM FOUR ROADS CENTRE | Y.S.R | Regular | 152 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | iemnsion (in I (in Sq M)* | Л) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|---|------------------|------------|--|-----------|-------------------|------------|------------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 193 | ON NH-40 LHS FROM ALAMKHANAPALLI CIRCLE ON KADAPA BYPASS TO CHENNURU BRIDGE | Y.S.R | Regular | 151 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 194 | ON NH-167B WITHIN 5KM FROM PORUMAMILLA CROSS IN MYDUKUR TOWARDS PORUMAMILLA (ON EITHER SIDE) | Y.S.R | Regular | 152 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 195 | ON NH-716 FROM ALAMKHANAPALLI CIRCLE TILL MACHUPALLI JUNCTION ROAD ON KADAPA BYPASS (ON EITHER SIDE) | Y.S.R | Regular | 202 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 196 | VEMPALLI VILLAGE AND MANDAL (NOT ON NH AND SH) | Y.S.R | Rural | 110 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 197 | PEDDAPASUPULA VILLAGE, PEDDAMUDIAM MANDAL (NOT ON NH AND SH) | Y.S.R | Rural | 103 | OBC | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 198 | WITHIN 3KMS FROM PRODDATUR RURAL POLICE STATION TOWARDS KAMANURU (NOT ON NH AND SH) | Y.S.R | Rural | 182 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 199 | UPPALURU VILLAGE, MUDDANURU MANDAL (NOT ON NH AND SH) | Y.S.R | Rural | 115 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 200 | PARCHURU TO PUSAPADU ON SH-354 ON EITHER SIDE | BAPATLA | Regular | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 201 | FROM ADDANKI TO CHINAKOTHAPALLE VILLAGE ON ADDANKI-NARKETPALLY HIGHWAY ON EITHER SIDE. | BAPATLA | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 202 | FROM KOPPARAM TO SANTHAMANGALURU ON ADDANKI-SANTHANAGALURU STATE HIGHWAY ON EITHER SIDE | BAPATLA | Regular | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 203 | WITHIN 4 KMS OF INDIAN COAST GUARD STATION, NIZAMPATNAM ON EITHER SIDE ON STATE HIGHWAY | BAPATLA | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 204 | FROM INKOLLU TO KADAVAKUDURU ON STATE HIGHWAY ON EITHER SIDE | BAPATLA | Regular | 100 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 205 | FROM PEDAPUDI TO TSUNDURU ON STATE HIGHWAY 269 ON EITHER SIDE | BAPATLA | Regular | 100 | OBC PH | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 206 | WITHIN 4 KMS OF KONIKI JUNCTION (INKOLLU MANDAL) ON STATE HIGHWAY ON EITHER SIDE | BAPATLA | Regular | 100 | ST CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 207 | WITHIN 10KMS FROM SALVATION ARMY HIGH SCHOOL,BAPATLA TOWARDS KAKUMANU ON SH ON EITHER SIDE | BAPATLA | Regular | 100 | SC CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 208 | WITHIN 4KMS FROM REPALLE BUS STAND ON STATE HIGHWAY ON EITHER SIDE | BAPATLA | Regular | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 209 | CHIRALA TOWN WITHIN MUNCIPAL LIMITS, NOT ON NH/SH | BAPATLA | Regular | 110 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 210 | WITHIN 15KMS FROM KONANKI BUS STAND JUNCTION TOWARDS CHILAKALURIPETA ON LHS ON NH-16 | BAPATLA | Regular | 150 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 211 | ON NH-216, FROM HOLY CROSS EM HIGH SCHOOL (BAPATLA) TO TIMMAREDDYPALEM ON EITHER SIDE | BAPATLA | Regular | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 212 | FROM PENUMUDI TO KANAGALA ON NH-216 ON EITHER SIDE | BAPATLA | Regular | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 213 | ON NH-216, FROM CHINNAGANJAM TO VETAPALEM ON EITHER SIDE | BAPATLA | Regular | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 214 | WITHIN 15KMS FROM BOLLAPALLI TOLL PLAZA TOWARDS ONGOLE ON LHS ON NH-16 | BAPATLA | Regular | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in M (in Sq M)* | Л) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|---|------------------|------------|--|-----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 215 | WITHIN 10KMS FROM SALVATION ARMY HIGH SCHOOL,STUARTPURAM TOWARDS VETAPALEM ON NH-216 ON EITHER SIDE | BAPATLA | Regular | 150 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 216 | VODAREVU VILLAGE TO GAVINIVARIPALEM VIA VEDULLAPALLI-VODAREVU ROAD ON EITHER SIDE (NOT ON NH/SH) | BAPATLA | Rural | 75 | OBC | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 217 | WITHIN 5 KMS OF PANCHAYAT OFFICE OF SWARNA VILLAGE, KARAMCHEDU MANDAL (NOT ON NH/SH) | BAPATLA | Rural | 60 | SC PH | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 218 | WITHIN 8 KM FROM CSTS GOVT. DEGREE COLL. CROSS ROAD(JANGAREDDYGUDEM)/JN ON NH 516D ON EITHER SIDE | ELURU | Regular | 160 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 219 | WITHIN 7 KMS FROM STATE BANK OF INDIA CHATRAI ON SH183 ON EITHER SIDE | ELURU | Regular | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 220 | WITHIN 5 KM FROM AYYAPPASWAMYTEMPLE,KORUKOLLU ON STATEHIGHWAY ON EITHER SIDE(NOT ON KALIDINDI ROAD) | ELURU | Regular | 105 | SC PH | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 221 | WITHIN 3 KMS FROM BHIMADOLE JUNCTION ON STATE HIGHWAY ON EITHER SIDE | ELURU | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 222 | WITHIN 4 KM FROM KAIKALURU MARKET YARD ON SH ON EITHER SIDE | ELURU | Regular | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 223 | WITHIN 3 KMS FROM CHINTALAPUDI POST OFFICE ON STATE HIGHWAY | ELURU | Regular | 100 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 224 | FROM DWARAKA TIRUMALA TO PANGIDIGUDEM ON EITHER SIDE OF STATE HIGHWAY SH190 | ELURU | Regular | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 225 | WITHIN 4 KMS OF VADAVALLI JN (SRI DASAANJANEYA TEMPLE) ON SH245, SH310 ON EITHER SIDE | ELURU | Regular | 105 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 226 | WITHIN 2 KM FROM PONGUTURU JUNCTION(KOYYALAGUDEM MANDAL) ON STATE HIGHWAY ON EITHER SIDE(ELURU DIST) | ELURU | Regular | 105 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 227 | WITHIN 3 KMS FROM ZPHS GOPAVARAM ON NUZVID- ELURU STATE HIGHWAY ON EITHER SIDE | ELURU | Regular | 105 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 228 | WITHIN 4 KMS FROM VALASAPALLI X-ROAD/JUNCTION ON STATE HIGHWAY ON EITHER SIDE OF SH20/SH199 | ELURU | Regular | 105 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 229 | RAVULAPARRU TO MANDALAPARRU ON SH 232 ON RHS | ELURU | Regular | 105 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 230 | WITHIN 5 KMS FROM CHEBROLU RAILWAY STATION ON STATE HIGHWAY TOWARDS DUBACHERLA ON EITHER SIDE | ELURU | Regular | 110 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 231 | JANGAREDDYGUDEM WITHIN MUNICIPAL LIMITS NOT ON SH/NH | ELURU | Regular | 105 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 232 | ELURU WITHIN MUNICIPAL LIMITS ON STATE HIGHWAY | ELURU | Regular | 110 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 233 | WITHIN 4 KM OF APSTRC BUS STAND NUZVID ON STATE HIGHWAY | ELURU | Regular | 110 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 234 | FROM NUZVID TO AGIRIPALLI ON SH 238 ON EITHER SIDE | ELURU | Regular | 105 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 235 | ELURU WITHIN MUNICIPAL LIMITS NOT ON NH/SH | ELURU | Regular | 100 | OBC | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 4 |
| 236 | FROM SIR CR REDDY PUBLIC SCHOOL SATRAMPADU TO BY-PASS JUNCTION (VIJAYWADA SIDE) ELURU NOT ON NH/SH | ELURU | Regular | 105 | OPEN | СС | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in M (in Sq M)* | M) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|--|------------------|------------|--|-----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 237 | FROM ELURU COLLEGE OF ENGG TO DUBACHERLA ON RHS OF NH-16 WITHIN ELURU DISTRICT | ELURU | Regular | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 238 | WITHIN 8 KM FROM MUDINEPALLI POLICE STATION (MUDINEPALLI MANDAL) ON NH 165 ON EITHER SIDE | ELURU | Regular | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 239 | BUTTAYAGUDEM TO JEELUGUMILLI ON NH 365BB ON EITHER SIDE | ELURU | Regular | 150 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 240 | FROM BHIMADOLE BYPASS START POINT(ELURU SIDE) TO DUBACHERLA ON NH16 ON LHS WITHIN ELURU DIST. | ELURU | Regular | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 241 | WITHIN 6 KM FROM MANDAVALLI POLICE STATION ON MUDINEPALLI TO KAIKALURU NH 165 ON EITHER SIDE | ELURU | Regular | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 242 | BUTTAYAGUDEM TO KANNAPURAM ON NH 365BB ON EITHER SIDE | ELURU | Regular | 150 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 243 | WITHIN 8 KMS FROM UNGUTURU TOLL PLAZA ON NH 216A TOWARDS PULLA ON EITHER SIDE | ELURU | Regular | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 244 | MATHANNAGUDEM TO JEELUGUMILLI ON NH516D ON EITHER SIDE | ELURU | Regular | 155 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 245 | DENDULURU BUS STOP-KOMIREPALLE GARUDA FOOD COURTS NH-16 ON LHS | ELURU | Regular | 220 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 246 | WITHIN 8 KMS FROM PEDAVEGI VILLAGE (PEDAVEGI MANDAL) POLICE STAION NOT ON SH/NH | ELURU | Rural | 60 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 247 | WITHIN 7 KM FROM GRAM PANCHAYAT OFFICE PRATHIKOLA LANKA NOT ON NH/SH | ELURU | Rural | 60 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 248 | WITHIN 4 KMS FROM JEELAKARRAGUDEM HIGH SCHOOL (KAMAVARAPUKOTA MANDAL) NOT ON SH/NH ON EITHER SIDE | ELURU | Rural | 73 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 249 | WITHIN 6 KMS FROM KALIDINDI BUS STAND ON KAIKALURU OR TADINADA ROAD ON EITHER SIDE NOT ON NH/SH | ELURU | Rural | 70 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 250 | FROM CHINNAKAKANI TO GOLLAPUDI ON NEW MANGALAGIRI-TADEPALLI BYPASS ON EITHER SIDE | GUNTUR | Regular | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 251 | WITHIN 10KMS FROM KAZA TOLL PLAZA TOWARDS GUNTUR ON NH-16 ON EITHER SIDE | GUNTUR | Regular | 150 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 252 | WITHIN 6KMS FROM KANAKADURGA VARADHI BRIDGE TOWARDS GUNTUR ON LHS ON NH- 16/SERVICE ROAD. | GUNTUR | Regular | 160 | OPEN | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 5 |
| 253 | WITHIN 6KMS FROM NARAKODURU CENTRE JUNCTION TOWARDS GUNTUR ON SH-40 ON RHS | GUNTUR | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 254 | WITHIN 3KMS OF SANGAM JAGARLAMUDI ON STATE HIGHWAY ON EITHER SIDE | GUNTUR | Regular | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 255 | WITHIN 4KM FROM PRATHIPADU BUS STAND ON GUNTUR-PARCHURU STATE HIGHWAY ON EITHER SIDE | GUNTUR | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 256 | FROM RAMAKRISHNA CINEMAS TO UNDAVALLI CAVES, TADEPALLI (WITHIN TOWN LIMITS) NOT ON NH/SH | GUNTUR | Regular | 100 | OPEN CC 2 | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 257 | FROM GARIKAPADU TO PONNURU ON STATE HIGHWAY ON EITHER SIDE | GUNTUR | Regular | 100 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 258 | GUNTUR CITY, WITHIN 2KMS OF CHUTTUGUNTA CIRCLE | GUNTUR | Regular | 160 | OBC | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 4 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | iemnsion (in I (in Sq M)* | M) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|--|------------------|------------|--|----------|-------------------|------------|------------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 259 | WITHIN 4KMS FROM PONNURU RTC BUS STAND ON GUNTUR-BAPATLA STATE HIGHWAY ON EITHER SIDE | GUNTUR | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 260 | TENALI TOWN WITHIN MUNICIPAL LIMITS, NOT ON NH/SH | GUNTUR | Regular | 100 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 261 | TADEPALLE TOWN WITHIN MUNICIPAL LIMITS, NOT ON NH/SH | GUNTUR | Regular | 100 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 262 | GUNTUR CITY WITHIN MUNICIPAL LIMITS | GUNTUR | Regular | 160 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 263 | ATMAKUR VILLAGE TO REVENDRAPADU VILLAGE (ON MANGALGIRI- TENALI STATE HIGHWAY) ON EITHER SIDE. | GUNTUR | Regular | 100 | OBC | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 4 |
| 264 | FROM KUNCHANAPALLI TO IPPATAM VILLAGE VIA KL UNIVERSITY TADEPALLI (NOT ON NH/SH) | GUNTUR | Regular | 100 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 265 | WITHIN 6KMS FROM KANAKADURGA VARADHI BRIDGE TOWARDS GUNTUR ON RHS ON NH- 16/SERVICE ROAD. | GUNTUR | Regular | 160 | OPEN | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 5 |
| 266 | TADEPALLE TOWN WITHIN MUNICIPAL LIMITS, NOT ON NH/SH | GUNTUR | Regular | 120 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 267 | TENALI TOWN WITHIN MUNICIPAL LIMITS, NOT ON NH/SH | GUNTUR | Regular | 140 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 268 | MANGALAGIRI TOWN, FROM VJP&DLB DEGREE COLLEGE TO MISHRA DHABA (NOT ON NH/SH) | GUNTUR | Regular | 140 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 269 | ON NH-16, WITHIN 20KMS FROM ZAMINDAAR DHABA TOWARDS CHILAKALURIPETA ON LHS IN GUNTUR DIST. LIMITS | GUNTUR | Regular | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 270 | MANGALAGIRI TOWN WITHIN MUNICIPAL LIMITS, NOT ON NH/SH | GUNTUR | Regular | 150 | OBC | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 271 | WITHIN 6 KMS FROM PHIRANGIPURAM BUS STAND ON EITHER SIDE OF NH 544D, GUNTUR DISTRICT | GUNTUR | Regular | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 272 | ON NH-16, WITHIN 20KMS FROM ZAMINDAAR DHABA TOWARDS CHILAKALURIPETA ON RHS IN GUNTUR DIST. LIMITS | GUNTUR | Regular | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 273 | GUNTUR CITY FROM GUJJANAGUNDLA CIRCLE TO RAMESH HOSPITAL VIA COLLECTOR OFFICE ROAD ON EITHER SIDE | GUNTUR | Regular | 160 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 274 | GUNTUR CITY, FROM JKC COLLEGE TO CHILLIS DHABA VIA RTO OFFICE ROAD ON EITHER SIDE. | GUNTUR | Regular | 160 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 275 | WITHIN 8KMS FROM KAZA TOLL PLAZA TOWARDS VIJAYAWADA ON LHS ON NH-16/SERVICE ROAD. | GUNTUR | Regular | 160 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 276 | ON NH-16 GUNTUR BYPASS ON LHS TOWARDS ONGOLE | GUNTUR | Regular | 160 | OPEN | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 5 |
| 277 | ON NH-16 GUNTUR BYPASS ON RHS TOWARDS ONGOLE | GUNTUR | Regular | 160 | OPEN | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 5 |
| 278 | WITHIN 8KMS FROM KAZA TOLL PLAZA TOWARDS VIJAYAWADA ON RHS ON NH-16/SERVICE ROAD. | GUNTUR | Regular | 160 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 279 | FROM NALLAPADU ZP HIGHSCHOOL CROSS ROAD JUNCTION TO PERECHERALA JUNCTION ON NH-544D ON EITHER SIDE | GUNTUR | Regular | 170 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 280 | GUNTUR CITY FROM LODGE CENTRE TO GUNJJANAGUNDLA CENTRE ON EITHER SIDE | GUNTUR | Regular | 220 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | iemnsion (in I (in Sq M)* | M) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|--|------------------|------------|--|----------|-------------------|------------|------------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 281 | GUNTUR CITY, FROM RTC BUS STAND TO AUTONAGAR PEDAKAKANI POLICE STATION (NOT ON NH) ON EITHER SIDE | GUNTUR | Regular | 240 | OBC | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 4 |
| 282 | GUNTUR CITY, WITHIN 2.5KMS OF APSPDCL CIRCLE OFFICE/VIDYUTH BHAVAN (GANDHI NAGAR) | GUNTUR | Regular | 150 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 283 | GUNTUR CITY WITHIN MUNICIPAL LIMITS | GUNTUR | Regular | 160 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 284 | WITHIN 4KMS OF NUTAKKI VILLAGE, MANGALAGIRI MANDAL (NOT ON NH/SH) | GUNTUR | Rural | 65 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 285 | FROM SRI VISWASANTHI HIGH SCHOOL KANTHERU TO MANGALAGIRI VIA NIDAMARRU (NOT IN MUNICIPAL LIMITS) | GUNTUR | Rural | 80 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 286 | FROM MACHHILIPATNAM TO GUDLAVALLERU ON NH ON EITHER SIDE | KRISHNA | Regular | 150 | SC CC 1 | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 287 | GUDIVADA WITHIN MUNICIPAL LIMITS NOT ON NH/SH | KRISHNA | Regular | 100 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 288 | FROM BOMMULURU VILLAGE TO ARUGOLANU VILLAGE ON NH 216H ON EITHER SIDE | KRISHNA | Regular | 170 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 289 | PEDDAPATNAM TO MACHHILIPATNAM ON SH ON EITHER SIDE | KRISHNA | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 290 | WITHIN 4 KMS FROM KUCHIPUDI JUNCTION ON SH ON EITHER SIDE | KRISHNA | Regular | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 291 | WITHIN 4 KMS FROM ZPHS PENUMALLI ON NADAPARU-VADAVALLI STATE HIGHWAY ON EITHER SIDE | KRISHNA | Regular | 110 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 292 | KESARAPALLI TO UPPULURU CANAL BRIDGE ON SH306 ON EITHER SIDE | KRISHNA | Regular | 130 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 293 | WITHIN 4 KMS FROM MANIKONDA CROSS/JUNCTION ON SH 298 OR SH 243 ON EITHER SIDE | KRISHNA | Regular | 105 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 294 | KESARAPALLI TO HANUMAN JUNCTION ON NH16 ON RHS | KRISHNA | Regular | 225 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 295 | WITHIN 4 KMS FROM ZP HIGH SCHOOL NAGAYALANKA ON SH 328 | KRISHNA | Regular | 150 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 296 | FROM MOPIDEVI VILLAGE TO MACHHILIPATNAM ON NH216 ON EITHER SIDE | KRISHNA | Regular | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 297 | FROM PAMMURU TO GUDIVADA ON NH165 ON EITHER SIDE | KRISHNA | Regular | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 298 | FROM MACHHILIPATNAM TO NHAI TOLL GATE, MUNJULURU ON NH216 ON EITHER SIDE | KRISHNA | Regular | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 299 | FROM NHAI TOLL GATE, MUNJULURU TO LOSARI BRIDGE WITHIN KRISHNA DISTRICT ON NH216 ON EITHER SIDE | KRISHNA | Regular | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 300 | WITHIN 7KM FROM GANNAVARAM BUS STAND ON STATE HIGHWAY | KRISHNA | Regular | 150 | OPEN PH | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 301 | FROM DAVULURU TOLL PLAZA TO NIDUMOLU JUNCTION ON NH-65 ON LHS | KRISHNA | Regular | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 302 | GANNAVARAM TO GOLLAPUDI ON NEW VIJAYAWADA BYPASS WITHIN KRISHNA DISTRICT LIMITS ON EITHER SIDE | KRISHNA | Regular | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in I (in Sq M)* | /) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|--|------------------|------------|--|-----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 303 | WITHIN MACHILIPATNAM MUNICIPAL LIMITS NOT ON SH/NH | KRISHNA | Regular | 200 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 304 | WITHIN TADIGADAPA MUNICIPAL LIMITS NOT ON SH/NH | KRISHNA | Regular | 200 | OBC | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 305 | ON EITHER SIDE OF PORANKI TO NIDAMANURU ROAD NOT ON NH/SH | KRISHNA | Regular | 200 | OBC | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 306 | WITHIN TADIGADAPA MUNICIPAL LIMITS NOT ON NH/SH | KRISHNA | Regular | 200 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 307 | WITHIN 2.5KM FROM KANURU SHIVALYAM,KANURU IN TADIGADAPPA MUNICIPALITY ON EITHER SIDE NOT ON NH/SH | KRISHNA | Regular | 200 | OBC | СС | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 4 |
| 308 | FROM BHARAT ELECTRONICS LTD (NIDUMOLU) TO MACHILIPATNAM ON NH-65 ON EITHER SIDE | KRISHNA | Regular | 200 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 309 | FROM DAVULURU TOLL PLAZA TOWARDS BENZ CIRCLE WITHIN KRISHNA DISTRICT LIMITS ON LHS ON NH-65 | KRISHNA | Regular | 225 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 310 | WITHIN 3KM FROM APSRTC BUS STAND GANNAVARM ON NH 16 | KRISHNA | Regular | 225 | OPEN | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 5 |
| 311 | FROM DAVULURU TOLL PLAZA TOWARDS BENZ CIRCLE WITHIN KRISHNA DISTRICT LIMITS ON RHS ON NH-65 | KRISHNA | Regular | 225 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 312 | FROM P SIDDARTHA MEDICAL COLLEGE TO HANUMAN JUNCTION ON NH16 ON LHS | KRISHNA | Regular | 225 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 313 | 6 KMS OF GOVT JUNIOR COLLEGE RUDRAPAKA VILLAGE, NANDIVADA MANDAL. | KRISHNA | Rural | 60 | OBC | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 314 | WITHIN 3 KMS FROM KODURU POLICE STATION, KODURU VILLAGE, KODURU MANDAL | KRISHNA | Rural | 100 | OPEN CC 1 | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 315 | WITHIN 4KM FROM VINAYAKA TEMPLE (SRIKAKULAM VILLAGE) ON VIJAYAWADA AVNIGADDA ROAD | KRISHNA | Rural | 100 | OBC | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 316 | WITHIN 3KM FROM CHALLAPALI APSRTC BUS STAND NOT ON NH/SH | KRISHNA | Rural | 100 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 317 | FROM POLICE CONTROL ROOM (VIJAYAWADA) TOWARDS KANKIPADU WITHIN NTR DISTRICT LIMITS ON RHS | NTR | Regular | 250 | OBC | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 4 |
| 318 | WITHIN 4 KM FROM GAMPALAGUDEM JUNCTION ON SH178/SH198 | NTR | Regular | 100 | OBC PH | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 319 | G KONDURU TO YSR JUNCTION (VIJAYAWADA) ON SH ON EITHER SIDE | NTR | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 320 | WITHIN 4 KM FROM VISSANAPETA APSRTC BUS STAND ON STATE HIGHWAY | NTR | Regular | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 321 | ENIKEPADU JUNCTION TO KESARAPALLI ON NH 16 ON LHS WITHIN NTR DISTRICT | NTR | Regular | 300 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 322 | ENIKEPADU JUNCTION TO KESARAPALLI ON NH 16 ON RHS WITHIN NTR DISTRICT | NTR | Regular | 300 | OPEN CC 1 | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 323 | KONKANCHI CROSS ROAD TO TELANAGA BORDER ON NH 65 ON RHS | NTR | Regular | 150 | OPEN CC 2 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 324 | WITHIN 3KM FROM KANCHIKCHERLA APSRTC BUS STAND NOT ON NH | NTR | Regular | 150 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in I (in Sq M)* | /) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|---|------------------|------------|--|-----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 325 | KONKANCHI CROSS ROAD TO TELANAGA BORDER ON NH 65 ON LHS | NTR | Regular | 150 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 326 | FROM D-MART(KANDRIKA) TO SURAMPALLI WITHIN NTR DISTRICT ON EITHER SIDE | NTR | Regular | 150 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 327 | IBRAHIMPATNAM CIRCLE TO BADAVA TOLL PLAZA ON NH 30 ON LHS | NTR | Regular | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 328 | WITHIN 5KM FROM JAGGAYAPET APSRTC BUS STAND ON SH | NTR | Regular | 150 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 329 | BADAVA TOLL PLAZA TO TELANGANA BORDER ON NH 30 ON EITHER SIDE | NTR | Regular | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 330 | BETWEEN VIJAYA DAIRY MILK FACTORY AND PSCMR COLLEGE OF ENGG ON KT ROAD VIJAYAWADA ON EITHER SIDE | NTR | Regular | 175 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 331 | BETWEEN PUSHPA HOTEL CENTRE AND HOTEL HYATT PLACE VIA AMMA KALYAN MANDAPAM ON EITHER SIDE | NTR | Regular | 200 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 332 | WITHIN 4KM OF AYYAPPA SWAMI TEMPLE (RAMALINGESHWAR NAGAR), WITHIN VIJAYAWADA MUNICIPAL LIMITS | NTR | Regular | 200 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 333 | WITHIN 4KM FROM RAVINDRA CINEMA (PYAKAPURAM) WITHIN VIJAYAWADA MUNICIPAL CORPORATION LIMITS | NTR | Regular | 225 | OBC | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 4 |
| 334 | HANUMAN STATUE (PARITALA VILLAGE) TO KONKANCHI CROSS ROAD ON NH 65 ON RHS | NTR | Regular | 200 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 335 | HANUMAN STATUE (PARITALA VILLAGE) TO KONKANCHI CROSS ROAD ON NH 65 ON LHS | NTR | Regular | 200 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 336 | WITHIN 2KM FROM JUNCTION OF ELURU ROAD AND BRTS ROAD, VIJAYAWADA CITY | NTR | Regular | 250 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 337 | FROM POLICE CONTROL ROOM (VIJAYAWADA) TOWARDS KANKIPADU WITHIN NTR DISTRICT LIMITS ON LHS | NTR | Regular | 250 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 338 | WITHIN 3 KM FROM GOVT. PRESS SATYANARAYANPURAM VIJAYAWADA CITY | NTR | Regular | 250 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 339 | WITHIN 3KM FROM APSARA THEATRE VIJAYAWADA CITY | NTR | Regular | 250 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 340 | WITHIN 2.5KM FROM NAC KALYAN VEDIKA (GURU NANAK COLONY) VIJAYWADA CITY | NTR | Regular | 300 | OPEN | СС | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 341 | VIJAYAWADA CITY WITHIN MUNICIPAL CORPORATION LIMIT | NTR | Regular | 300 | OBC | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 4 |
| 342 | WITHIN 3KM FROM SITARA JUNCTION, VIJAYAWADA CITY | NTR | Regular | 300 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 343 | WITHIN 4KM FROM VARADHI BUS STOP, VIJAYAWADA CITY (WITHIN VIJAYAWADA MUNICIPAL LIMIT) | NTR | Regular | 300 | OPEN | СС | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 344 | WITHIN 5KM OF GUNTUPALLI VILLAGE ON NH 65 ON EITHER SIDE | NTR | Regular | 275 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 345 | IBRAHIMPATNAM CIRCLE TO HANUMAN STATUE (PARITALA VILLAGE) ON NH 65 ON LHS | NTR | Regular | 275 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 346 | VIJAYAWADA CITY WITHIN MUNICIPAL CORPORATION LIMITS | NTR | Regular | 300 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in I (in Sq M)* | M) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|--|------------------|------------|--|-----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 347 | IBRAHIMPATNAM CIRCLE TO HANUMAN STATUE (PARITALA VILLAGE) ON NH 65 ON RHS | NTR | Regular | 275 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 348 | GOLLAPUDI Y JUNCTION TO IBRAHIMPATNAM CIRCLE ON NH 65 ON RHS | NTR | Regular | 300 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 349 | VIJAYAWADA CITY WITHIN MUNICIPAL CORPORATION LIMITS | NTR | Regular | 300 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 350 | GOLLAPUDI Y JUNCTION TO IBRAHIMPATNAM CIRCLE ON NH 65 ON LHS | NTR | Regular | 300 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 351 | FROM GOLLAPUDI JUNCTION TO NUNNA ON NEW VIJAYAWADA BYPASS WITHIN NTR DISTRICT LIMITS ON EITHER SIDE | NTR | Regular | 300 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 352 | RAMAVARAPPADU RING TO ENIKEPADU JUNCTION, VIJAYAWADA CITY ON EITHER SIDE | NTR | Regular | 300 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 353 | WITHIN 5KM FROM SWATHI THEATER (BHAVANIPURAM) NTR DISTRICT | NTR | Regular | 275 | OBC | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 4 |
| 354 | RAJUGUDEM VILLAGE TO TIRUVURU NOT ON SH/NH ON EITHER SIDE | NTR | Rural | 60 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 355 | WITHIN 6 KM FROM CSI CHURCH (BRAHMABOTLAPAELM VILLAGE), NANDIGMA MANDAL NOT ON SH/NH | NTR | Rural | 65 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 356 | WITHIN 4KM FROM APSRTC BUS STAND MYLAVARAM NOT ON NH/SH | NTR | Rural | 70 | OBC | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 357 | PATHAPADU VILLAGE TO PYAKAPURAM (OUTSIDE OF VIJAYAWADA MUNICIPAL LIMITS) ON EITHER SIDE | NTR | Rural | 100 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 358 | FROM NUNNA CENTRE TO NAINAVARAM ON EITHER SIDE NOT ON NH/SH | NTR | Rural | 150 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 359 | WITHIN 6 KMS OF SATTENAPALLE BUS STAND ON NH 167AG ON EITHER SIDE | PALNADU | Regular | 150 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 360 | MACHAVARAM VILLAGE TO VEMAVARAM (MACHAVARAM MANDAL) ON STATE HIGHWAY, ON EITHER SIDE | PALNADU | Regular | 100 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 361 | WITHIN VINUKONDA MUNICIPAL LIMITS (NOT ON SH/NH) | PALNADU | Regular | 100 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 362 | WITHIN MUNICIPAL LIMITS OF VINUKONDA TOWN ON STATE HIGHWAY | PALNADU | Regular | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 363 | WITHIN 7 KMS FROM MPP SCHOOL KONDAVEEDU TOWARDS LINGARAOPALEM ON STATE HIGHWAY ON EITHER SIDE | PALNADU | Regular | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 364 | NARASARAOPET TOWN TO GOLLAPADU VILLAGE (MUPPALLA MANDAL) ON STATE HIGHWAY ON EITHER SIDE | PALNADU | Regular | 100 | OPEN PH | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 365 | BETWEEN TUBADU VILLAGE AND SATULURU ON STATE HIGHWAY ON EITHER SIDE | PALNADU | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 366 | BELLAMKONDA VILLAGE TO CHANDRAJUPALEM VILLAGE ON SH, ON EITHER SIDE | PALNADU | Regular | 100 | ST | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 367 | WITHIN 2 KMS OF ZPHS DODLERU ON STATE HIGHWAY ON EITHER SIDE | PALNADU | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 368 | ON STATE HIGHWAY WITHIN 5 KMS FROM KAREMPUDI JUNCTION TOWARDS GURAZALA ON EITHER SIDE | PALNADU | Regular | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in I (in Sq M)* | И) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|---|------------------|------------|--|----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 369 | WITHIN MUNICIPAL LIMITS OF NARASARAOPET TOWN (NOT ON SH/NH) | PALNADU | Regular | 120 | OBC CC 1 | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 4 |
| 370 | NARASARAOPET TOWN WITHIN MUNICIPAL LIMITS (NOT ON SH/NH) | PALNADU | Regular | 100 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 371 | FROM UNIVERSITY COLLEGE OF ENGINEERING NARASARAOPET TO NEKARIKALLU JUNCTION ON LHS ON NH 167A. | PALNADU | Regular | 150 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 372 | ON LHS, FROM ROMPICHARLA TO VIPPERLA ON ADDANKI - NARKETPALLY HIGHWAY | PALNADU | Regular | 110 | ST | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 373 | FROM CHILAKALURIPET NRT CENTRE TO NARASARAOPET ON NH 167A ON LHS | PALNADU | Regular | 180 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 374 | WITHIN 7 KMS FROM SAVALYAPURAM JUNCTION TOWARDS GUNTUR ON NH 544D ON RHS IN PALNADU DISTRICT | PALNADU | Regular | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 375 | ON NH 167AD, FROM MACHERLA CROSS ROAD (JUNCTION WITH NH 167A) TO GURAZALA VILLAGE ON EITHER SIDE | PALNADU | Regular | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 376 | WITHIN 5 KMS FROM KOTHAPALLI CROSS ROAD (NEAR MACHERLA) ON NH 565. ON EITHER SIDE | PALNADU | Regular | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 377 | FROM CHILAKALURIPET NRT CENTRE TO NARASARAOPET ON NH 167A ON RHS | PALNADU | Regular | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 378 | ON NH 544D, WITH IN 7 KMS FROM SKY VALLEY RESORT(NARASARAOPET) TOWARDS VINUKONDA ON EITHER SIDE | PALNADU | Regular | 150 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 379 | FROM KADHAR BABA TEMPLE (VINUKONDA EXIT TOWARDS MARKAPURAM) TO KOTHAPALEM VILLAGE ON NH 544D ON LHS. | PALNADU | Regular | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 380 | WITHIN 9KMS FROM NRT CIRCLE(CHILAKALURIPET) TOWARDS PARCHUR ON 167A ON EITHER SIDE IN PALNADU DIST | PALNADU | Regular | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 381 | CHILAKALURIPET TOWN WITHIN MUNICIPAL LIMITS (NOT ON SH/NH) | PALNADU | Regular | 200 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 382 | ON NH-16 WITHIN 8 KMS FROM NRT CIRCLE (CHILAKALURIPET) TOWARDS GUNTUR. ON EITHER SIDE | PALNADU | Regular | 300 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 383 | WITHIN 4 KMS FROM KANDLAGUNTA VILLAGE, IN NEKARIKALLU MANDAL, PALNADU DISTRICT ON EITHER SIDE | PALNADU | Rural | 70 | OBC | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 384 | WITHIN 5 KMS OF KOTAPPAKONDA JUNCTION (SHIVA STATUE), NOT ON SH/NH | PALNADU | Rural | 70 | OBC PH | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 385 | BETWEEN ROMPICHARLA TO A.MUPPALA VILLAGE (NOT ON SH/NH) ON EITHER SIDE | PALNADU | Rural | 80 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 386 | FROM D6 EXOTICA (ONGOLE EXIT) TO NELLORE DISTRICT BORDER (WITHIN PRAKASAM DIST.) ON NH16 ON LHS | PRAKASAM | Regular | 210 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 387 | WITHIN 5 KMS FROM PODILI BUS STAND TOWARDS DARSI ON SH 42 ON EITHER SIDE | PRAKASAM | Regular | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 388 | WITHIN 5 KM FROM BESTWARIPETA TOWARDS PODILI ON STATE HIGHWAY ON EITHER SIDE | PRAKASAM | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 389 | WITHIN 5 KMS FROM ZPH SCHOOL MOGULLURU ON KANIGIRI-CHANDRASEKHARAPURAM STATE HIGHWAY | PRAKASAM | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 390 | WITHIN 5 KMS FROM KOMAROLU POST OFFICE (KOMAROLU MANDAL) ON STATE HIGHWAY ON EITHER SIDE | PRAKASAM | Regular | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in I (in Sq M)* | M) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|---|------------------|------------|--|-----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 391 | WITHIN 5 KM OF APSRTC BUS DEPOT (GIDDALUR) ON STATE HIGHWAY (NOT ON NH) | PRAKASAM | Regular | 100 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 392 | WITHIN 6 KMS FROM DARSI MRO OFFICE ON SH-42 TOWARDS PODILI | PRAKASAM | Regular | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 393 | WITHIN 10 KMS FROM APSRTC BUS DEPOT (PODILI) TOWARDS CHIMAKURTHY ON STATE HIGHWAY ON EITHER SIDE | PRAKASAM | Regular | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 394 | FROM RAMESH SANGHAMITRA HOSP. TO THROVAGUNTA JN. VIA MANGAMURU JN. ON OLD NH BYPASS ON EITHER SIDE | PRAKASAM | Regular | 100 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 395 | WITHIN 5 KM FROM DONAKONDA RAILWAY STATION ON STATE HIGHWAY | PRAKASAM | Regular | 100 | SC CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 396 | WITHIN 5 KMS OF MARCUS MASJID,ULLAGALLU JUNCTION (MUNDLAMURU MANDAL) ON SH 51/SH 344 ON EITHER SIDE | PRAKASAM | Regular | 105 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 397 | MARKAPUR TOWN WITHIN MUNICIPALITY LIMIT NOT ON SH /NH | PRAKASAM | Regular | 105 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 398 | ONGOLE TOWN TO KOTHAPATNAM ON SH ON EITHER SIDE | PRAKASAM | Regular | 110 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 399 | WITHIN 5 KMS FROM CHIMAKURTHY TOWN TOWARDS EAST GANGAVARAM ON STATE HIGHWAY 295 ON EITHER SIDE | PRAKASAM | Regular | 110 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 400 | FROM SANTHANUTHALAPADU POLICE STATION TO K3K CINEMAS (CHIMAKURTHY) ON STATE HIGHWAY ON EITHER SIDE | PRAKASAM | Regular | 110 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 401 | FROM CHURCH JN.TO PLR CONVENTION CENTRE ON EITHER SIDE WITHIN MUNICIPAL LIMIT ONGOLE(NOT ON NH/SH) | PRAKASAM | Regular | 110 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 402 | WITHIN 4 KMS OF DARSI APSRTC BUS STAND TOWARDS EAST GANGAWARAM ON STATE HIGHWAY | PRAKASAM | Regular | 115 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 403 | FROM PODILI MAIN BUS STAND TO CHINARIKATLA JUNCTION ON SH39 ON EITHER SIDE | PRAKASAM | Regular | 130 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 404 | WITHIN 5 KMS OF PAMURU POLICE STATION ON NATIONAL HIGHWAY (WITHIN PRAKASAM DIST.) ON EITHER SIDE | PRAKASAM | Regular | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 405 | ONGOLE TOWN WITHIN MUNICIPALITY LIMIT (NOT ON NH/SH) | PRAKASAM | Regular | 130 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 406 | ONGOLE TOWN WITHIN MUNICIPALITY LIMIT (NOT ON NH/SH) | PRAKASAM | Regular | 130 | ST | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 407 | WITHIN 6 KM FROM DORNALA JUNCTION TOWARDS ATMAKUR ON NH340C (DORNALA - ATMAKUR ROAD) ON EITHER SIDE | PRAKASAM | Regular | 150 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 408 | WITHIN 4 KMS FROM KONAKANAMITLA JUNCTION ON NH565 ON EITHER SIDE | PRAKASAM | Regular | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 409 | WITHIN 5 KMS OF TATICHERLA JN ON NH544D ON EITHER SIDE | PRAKASAM | Regular | 155 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 410 | WITHIN 5 KM FROM CUMBUM TOWN TOWARDS GIDDALUR ON NH544D ON EITHER SIDE | PRAKASAM | Regular | 155 | OPEN CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 411 | WITHIN 5 KM OF DEVARAJU GATTU JN ON NH 565 ON EITHER SIDE | PRAKASAM | Regular | 160 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 412 | FROM VISHNUPRIYA CONVENTION (THROVAGUNTA) TO THIMMANAPALEM VILL.(WITHIN PRAKASAM DIST.)ON NH16 ONLHS | PRAKASAM | Regular | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in M (in Sq M)* | Л) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|---|--------------------------|------------|--|----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 413 | WITHIN 5 KM FROM KUNTA JUNCTION ON NH544D ON EITHER SIDE | PRAKASAM | Regular | 150 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 414 | WITHIN 6 KMS OF YERRAGONDAPALEM RTC BUS STAND ON NH565 ON EITHER SIDE | PRAKASAM | Regular | 165 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 415 | FROM JANGAMGUNTLA TO CUMBUM TOWN ON NH 544D ON EITHER SIDE | PRAKASAM | Regular | 165 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 416 | FROM TARLAPADU TO MARKAPUR OUTSIDE MUNICIPAL LIMITS ON EITHER SIDE | PRAKASAM | Rural | 60 | OBC CC 1 | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 417 | FROM MRO OFFICE YERRAGONDAPALEM TO RAMACHANDRAPURAM VILLAGE NOT ON SH/NH | PRAKASAM | Rural | 60 | OBC | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 418 | FROM KARAVADI VILLAGE TO ULICHI VILLAGE, ONGOLE MANDAL ON EITHER SIDE | PRAKASAM | Rural | 70 | OBC | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 419 | WITHIN 5 KMS FROM TALLURU POLICE STATION(TALLURU MANDAL) NOT ON NH/SH ON EITHER SIDE | PRAKASAM | Rural | 78 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 420 | CHIMAKURTHY TO RAMACHANDRAPURAM VIA GONUGUNDA NOT ON SH/NH ON EITHER SIDE | PRAKASAM | Rural | 60 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 421 | RAJAMPALLI TO EAST GANGAWARAM ON EITHER SIDE NOT ON NH/SH | PRAKASAM | Rural | 70 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 422 | WITHIN 4 KMS OF SINGARAYAKONDA POLICE STATION NOT ON NH/SH | PRAKASAM | Rural | 105 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 423 | WITHIN ARAKU VILLAGE LIMITS, ON ARAKU - VISAKHAPATNAM RD, TOWARDS PADERU ON LHS | ALLURI SITHARAMA RAJU | Regular | 115 | ST | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 424 | ARAKU BYPASS ROAD ON EITHER SIDE OF NH516E | ALLURI SITHARAMA RAJU | Regular | 190 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 425 | PADERU TO CHINTALAVEEDHI ON EITHER SIDE OF NH516E | ALLURI SITHARAMA RAJU | Regular | 220 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 426 | FROM CHATTI JUNCTION TOWARDS KONTA ON EITHER SIDE OF NH30 | ALLURI SITHARAMA RAJU | Regular | 160 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 427 | WITHIN 2KM FROM CHINTAPALLE VILLAGE ON EITHER SIDE OF NH516E | ALLURI SITHARAMA RAJU | Regular | 160 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 428 | WITHIN 2KM FROM AMBEDKAR CENTRE IN RAMPACHODAVARAM TOWARDS DEVIPATNAM ON EITHER SIDE OF SH11 | ALLURI SITHARAMA RAJU | Regular | 110 | ST | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 429 | WITHIN G MADUGULA VILLAGE LIMITS ON EITHER SIDE OF NH516E | ALLURI SITHARAMA RAJU | Regular | 170 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 430 | FROM YELLAPURAM VILLAGE TO RAJAVOMMANGI VILLAGE ON EITHER SIDE OF NH516E | ALLURI SITHARAMA RAJU | Regular | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 431 | WITHIN NELLIPAKA VILLAGE LIMITS (NOT ON NH AND NOT ON SH) | ALLURI SITHARAMA RAJU | Rural | 77 | OBC | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 432 | WITHIN ANAKAPALLI MUNICIPAL LIMITS (GVMC LIMITS) | ANAKAPALLI | Regular | 175 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 433 | FROM LANKELAPALEM TO ANAKAPALLE RING ROAD ON NH16 ON LHS | ANAKAPALLI | Regular | 360 | OPEN | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 5 |
| 434 | FROM MAMIDIPALEM TO VENKANNAPALEM JN ON EITHER SIDE ON SH150 | ANAKAPALLI | Regular | 220 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | iemnsion (in I (in Sq M)* | M) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|---|------------------------------|------------|--|-----------|-------------------|------------|------------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 435 | FROM PEDAMUSIDIVADA TO ASAKAPALLI JN ON EITHER SIDE ON SH-152 | ANAKAPALLI | Regular | 310 | OPEN | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 5 |
| 436 | FROM PERIPHERAL RING ROAD (ANAKAPALLE) TO KOTHURU ON NH16 ON LHS | ANAKAPALLI | Regular | 340 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 437 | FROM TALLAPALEM JUNCTION TO KOTHURU ON NH16 ON LHS | ANAKAPALLI | Regular | 260 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 438 | FROM MUNAGAPAKA TO HARIPALEM ON SH154 ON LHS | ANAKAPALLI | Regular | 150 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 439 | FROM LANKELAPALEM JUNCTION TO PARWADA ON SH152 ON LHS | ANAKAPALLI | Regular | 180 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 440 | FROM PARWADA GIRLS HIGH SCHOOL TO STEEL PLANT CHECK POST ON EITHER SIDE OF SH-157 IN GVMC LIMITS | ANAKAPALLI | Regular | 160 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 441 | FROM NARSIPATNAM TO GABBADA ON EITHER SIDE OF SH7 | ANAKAPALLI | Regular | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 442 | FROM NARSIPATNAM TO YENDAPALLI ON EITHER SIDE ON SH158 | ANAKAPALLI | Regular | 115 | OPEN CC 2 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 443 | FROM PUDIMADAKA TO ATCHUTAPURAM JN ON SH-154 ON LHS | ANAKAPALLI | Regular | 190 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 444 | FROM VETA JANGALAPALEM TO KUNDRAM ON SH148 ON EITHER SIDE | ANAKAPALLI | Regular | 130 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 445 | FROM RAVADA TO NTPC JUNCTIONON EITHER SIDE ON SH-157 | ANAKAPALLI | Regular | 135 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 446 | FROM NARSIPATNAM TO BAYYAPUREDDIPALEM ON EITHER SIDE OF SH156 | ANAKAPALLI | Regular | 105 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 447 | FROM NAKKAPALLI TO PAYAKARAOPETA ON NH16 ON LHS | ANAKAPALLI | Regular | 170 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 448 | FROM KOTHURU TO LANKELAPALEM ON NH16 ON LHS | ANAKAPALLI | Regular | 295 | OPEN | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 5 |
| 449 | FROM MUNAGAPAKA TO ANAKAPALLI NH-16 BYPASS JN ON SH154 ON LHS | ANAKAPALLI | Regular | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 450 | FROM NARSIPATNAM TO CHEEDIGUMMALA ON EITHER SIDE OF SH11(OUTSIDE NARSIPATNAM MUNICIPAL LIMITS) | ANAKAPALLI | Regular | 120 | OBC PH | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 451 | WITHIN DEVERAPALLI VILLAGE LIMITS ON KOTHAVALASA ROAD/DEVERAPALLI MAIN ROAD | ANAKAPALLI | Rural | 90 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 452 | WITHIN JALLURU VILLAGE LIMITS (NOT ON NH AND NOT ON SH) | ANAKAPALLI | Rural | 85 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 453 | FROM VADDIPARRU TO ATREYAPURAM ON EITHER SIDE OF SH18 | DR. BR AMBEDKAR KONASEEMA | Regular | 110 | OPEN CC 2 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 454 | AMALAPURAM MUNCIPAL LIMIT, (NOT ON NH AND NOT ON SH) | DR. BR AMBEDKAR KONASEEMA | Regular | 220 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 455 | AMALAPURAM TOWN LIMIT ON EITHER SIDE OF KAKINADA ROAD | DR. BR AMBEDKAR KONASEEMA | Regular | 220 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 456 | WITHIN AMALAPURAM MANDAL LIMITS ON EITHER SIDE OF SH286 | DR. BR AMBEDKAR KONASEEMA | Regular | 220 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in M (in Sq M)* | Л) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|--|------------------------------|------------|--|-----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 457 | AMALAPURAM BYPASS(NH216) ON EITHER SIDE OF THE ROAD | DR. BR AMBEDKAR KONASEEMA | Regular | 230 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 458 | FROM BHIMNAPALLI TO GOLLAVILLI VILLAGE ON EITHER SIDE OF SH272 | DR. BR AMBEDKAR KONASEEMA | Regular | 105 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 459 | WITHIN DRAKSHRAMAM VILLAGE LIMITS, ON EITHER SIDE OF ANY STATE HIGHWAY | DR. BR AMBEDKAR KONASEEMA | Regular | 110 | OPEN PH | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 5 |
| 460 | FROM RAJAGOPAL THEATRE(IN RAMCHANDRAPURAM) TO PASALAPUDI VILLAGE,ON EITHER SIDE OF SH206. | DR. BR AMBEDKAR KONASEEMA | Regular | 140 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 461 | WITHIN MANDAPETA MUNICIPAL LIMITS, ON EITHER SIDE OF SH201 OR SH226 | DR. BR AMBEDKAR KONASEEMA | Regular | 110 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 462 | WITHIN 2 KMS FROM GATEWAY OF KONASEEMA ARCH(IN RAVULAPALEM) ON EITHER SIDE OF SH 18 | DR. BR AMBEDKAR KONASEEMA | Regular | 155 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 463 | RAZOLE TO DINDI ON EITHER SIDE OF NH216 | DR. BR AMBEDKAR KONASEEMA | Regular | 170 | SC CC 1 | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 464 | SIVAKODU VILLAGE ON EITHER SIDE OF SH235 | DR. BR AMBEDKAR KONASEEMA | Regular | 110 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 465 | AALAMURU TO KALVACHERLA ON SH218, EITHER SIDE OF THE ROAD | DR. BR AMBEDKAR KONASEEMA | Regular | 140 | OPEN CC 1 | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 5 |
| 466 | FROM RAYAVARAM TO KOMARIPALEM ON SH202, EITHER SIDE OF THE ROAD | DR. BR AMBEDKAR KONASEEMA | Regular | 110 | SC CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 467 | FROM CHELLURU TO VENTURU VILLAGE ON EITHER SIDE OF PADALAPUDI-VENTURU ROAD(NOT ON NH AND NOT ON SH) | DR. BR AMBEDKAR KONASEEMA | Rural | 85 | OBC | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 468 | D.RAVULAPALEM VILLAGE OR DEVGUPTAM VILLAGE OF ALLAVARAM MANDAL (NOT ON NH AND NOT ON SH) | DR. BR AMBEDKAR KONASEEMA | Rural | 80 | OPEN CC 2 | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 469 | FROM DEEWAN CHERUVU TO 4TH BRIDGE(GAMMON INDIA) IN AUTONAGAR ON SH181 ON LHS | EAST GODAVARI | Regular | 300 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 470 | FROM KOVVUR TO DEVERAPALLI ON NH16 ON LHS | EAST GODAVARI | Regular | 200 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 471 | FROM DEVERAPALLI TO KOVVUR ON NH16 ON LHS | EAST GODAVARI | Regular | 210 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 472 | WITHIN KANAVARAM VILLAGE IN RAJANAGARAM MANDAL, ON EITHER SIDE OF SH186 | EAST GODAVARI | Regular | 110 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 473 | FROM I.PANGIDI TO CHAGALLU ON SH22 ON LHS | EAST GODAVARI | Regular | 110 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 474 | FROM VEMAGIRI TO POTTILANKA ON NH216A ON LHS | EAST GODAVARI | Regular | 155 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 475 | FROM RAJANAGARAM TO RANGAMPETA ON SH15 ON LHS | EAST GODAVARI | Regular | 150 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 476 | FROM DEVERAPALLI TO ANANTHAPALLI ON NH16 ON LHS | EAST GODAVARI | Regular | 175 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 477 | FROM ANANTHAPALLI TO DEVERAPALLI ON NH16 ON LHS | EAST GODAVARI | Regular | 180 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 478 | FROM EAST GONAGUDEM TO DEWANCHERU ON NH16 ON LHS | EAST GODAVARI | Regular | 200 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in I (in Sq M)* | /) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|--|------------------|------------|--|----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 479 | LALACHERUVU TO VEMAGIRI ON EITHER SIDE OF NH216A | EAST GODAVARI | Regular | 210 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 480 | RAJAHMUNDRY WITHIN MUNICIPAL LIMITS (NOT ON NH AND NOT ON SH) | EAST GODAVARI | Regular | 200 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 481 | RAJAHMUNDRY TOWN, ON EITHER SIDE OF 100 FEET ROAD | EAST GODAVARI | Regular | 130 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 482 | BETWEEN EAST RAILWAY STATION RAJAHMUNDRY CITY TO HUKUMPETA HIGHWAY JUNCTION ON EITHER SIDE | EAST GODAVARI | Regular | 180 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 483 | RAJAHMUNDRY CITY, ON EITHER SIDE OF A.V. APPA RAO ROAD | EAST GODAVARI | Regular | 200 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 484 | GOKAVARAM TOWN LIMIT, ON EITHER SIDE OF NH516E | EAST GODAVARI | Regular | 160 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 485 | CHINNAYAGUDEM TO SANGAIGUDEM ON EITHER SIDE OF SH184 | EAST GODAVARI | Regular | 110 | ST CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 486 | BURUGUPUDI TO KORUKONDA ON NH516 ON LHS | EAST GODAVARI | Regular | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 487 | TORREDU TO GOKAVARAM BUS STAND (IN RAJAHMUNDRY TOWN) ON EITHER SIDE OF SH172 | EAST GODAVARI | Regular | 150 | ST PH | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 488 | FROM LALACHERUVU TO DIWANCHERVU ON EITHER SIDE OF NH216A | EAST GODAVARI | Regular | 280 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 489 | FROM TORREDU TO RAGHUDEVAPURAM ON EITHER SIDE OF SH172 | EAST GODAVARI | Regular | 150 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 490 | WITHIN 4 KM FROM GOPALAPURAM VILLAGE LIMIT ON EITHER SIDE OF NH516D | EAST GODAVARI | Regular | 160 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 491 | FROM JAGANNATHAPURAM TO GOPALAPURAM ON EITHER SIDE ON NH516D | EAST GODAVARI | Regular | 160 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 492 | WITHIN PALLA KADIYAM VILLAGE LIMITS, IN RAJANAGARAM MANDAL(NOT ON NH AND NOT ON SH) | EAST GODAVARI | Rural | 70 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 493 | WITHIN SRI RANGA PATNAM VILLAGE LIMITS, IN KORUKONDA MANDAL (NOT ON NH AND NOT ON SH) | EAST GODAVARI | Rural | 100 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 494 | FROM JAGAMPETA TO DHARMAVARAM ON LHS OF NH16 TOWARDS DHARMAVARAM | KAKINADA | Regular | 310 | OPEN PH | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 495 | BETWEEN PERUMALLAPURAM AND KATHIPUDI ON EITHER SIDE OF SH168 | KAKINADA | Regular | 125 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 496 | BETWEEN ACHAMPETA JUNCTION KAKINADA AND THIMAPURAM, ON EITHER SIDE OF NH216 | KAKINADA | Regular | 300 | OPEN | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 5 |
| 497 | BETWEEN PITHAPURAM AND THIMMAPURAM ON NH 216, LHS TOWARDS KAKINADA | KAKINADA | Regular | 280 | OBC | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 4 |
| 498 | FROM PERAMULLAPURAM TO ADDARIPETA ON EITHER SIDE OF SH162 | KAKINADA | Regular | 140 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 499 | KAKINADA TOWN ON EITHER SIDE OF RTO OFFICE ROAD | KAKINADA | Regular | 200 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 500 | SAMALKOT MUNICIPAL LIMIT ON EITHER SIDE OF SH170 OR SH173 | KAKINADA | Regular | 130 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in I (in Sq M)* | M) / Area of site | | e arranged by licant | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|--|------------------|------------|--|----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 501 | WITHIN TUNI MUNICIPAL LIMITS, (NOT ON NH AND NOT ON SH) | KAKINADA | Regular | 160 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 502 | FROM ACHAMPETA JUNCTION KAKINADA TO LIGHT HOUSE ON LHS OF ADB ROAD (SH15) | KAKINADA | Regular | 300 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 503 | WITHIN KAKINADA MUNICIPAL LIMIT | KAKINADA | Regular | 180 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 504 | FROM PEDDAPURAM TO SAMALAKOT, LHS TOWARDS SAMALAKOT ON ADB ROAD (SH15) | KAKINADA | Regular | 290 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 505 | FROM JUNCTION OF CANAL ROAD & ADB ROAD TO ACHMAPTEA JN, ON LHS OF ADB ROAD TOWARDS ACHAMPETA JN | KAKINADA | Regular | 300 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 506 | FROM KATHIPUDI TO YERRAVARAM ON LHS OF NH16 TOWARDS YERRAVARAM | KAKINADA | Regular | 290 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 507 | FROM DHARMAVAARAM TO KATHIPUDI ON NH 16 LHS TOWARDS KATHIPUDI | KAKINADA | Regular | 205 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 5 |
| 508 | KAKINADA TOWN, KALPANA CENTER TO RUCHI SOYA INDUSTRIES ON EITHER SIDE OF DAIRY FARM ROAD | KAKINADA | Regular | 200 | OBC | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 4 |
| 509 | WITHIN PITHAPURAM MUNICIPAL LIMITS, (NOT ON NH AND NOT ON SH) | KAKINADA | Regular | 170 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 510 | KAKINADA TOWN, BETWEEN GANDHI NAGAR CIRLCLE AND NAGAMALITHOTA JUNCTION VIA KARNAMGARI JUNCTION | KAKINADA | Regular | 200 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 511 | FROM TUNI TO KATHIPUDI ON NH16, LHS TOWARDS KATHIPUDI | KAKINADA | Regular | 300 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 512 | WITHIN 2 KM FROM F.K. PALEM JUNCTION TOWARDS SAMARLKOTA ON EITHER SIDE OF SH173 | KAKINADA | Regular | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 513 | WITHIN 6 KM FROM LIGHT HOUSE ON EITHER SIDE OF KAKINADA PORT ROAD | KAKINADA | Regular | 280 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 514 | GOLLAPORULU MUNICIPAL LIMITS,(NOT ON NH AND NOT ON SH) | KAKINADA | Regular | 150 | OPEN | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 515 | WITHIN 2 KM FROM TUNI APSRTC BUS DEPOT ON EITHER SIDE OF SH13 | KAKINADA | Regular | 120 | OBC | СС | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 4 |
| 516 | BETWEEN PENGUDURU TO KARAPA, LHS TOWARDS PENGUDURU ON SH197 | KAKINADA | Regular | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 517 | ON EIHER SIDE OF SH13 IN ROWTHULAPUDI VILLAGE IN ROWTHULAPUDI MANDAL | KAKINADA | Regular | 140 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 518 | KAKINADA BYPASS NH 216, FROM THIMAPAURAM TO UPPALANKA, LHS TOWARDS UPPALANKA | KAKINADA | Regular | 170 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 519 | KAKINADA BYPASS NH 216, FROM UPPALANKA TO THIMAPURAM, LHS TOWARDS THIMAPURAM | KAKINADA | Regular | 170 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 520 | G MAMIDADA VILLAGE ON EITHER SIDE OF ANY STATE HIGHWAY | KAKINADA | Regular | 120 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 521 | KOVVADA VILLAGE LIMIT ON SH191 | KAKINADA | Regular | 140 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 522 | BETWEEN SARPAVARAM JUNCTION AND ACHAMPETA JUNCTION ON EITHER SIDE OF ROAD (NOT ON NH AND NOT ON SH) | KAKINADA | Rural | 220 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Diemnsion (in M) / Area of site (in Sq M)* | | Finance to be arranged by applicant | | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) | |
|--------|---|-------------------------|------------|--|----------|-------------------|---|----|-------------------------------------|----|-------------------|---|--------------------------------------|----|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 523 | WITHIN VELDURTHI VILLAGE LIMITS IN PITHAPURAM MANDAL (NOT ON NH OR SH) | KAKINADA | Rural | 90 | OBC | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 3 |
| 524 | FROM SEETHAMPETA TO DONUBHAI ON EITHER SIDE OF SH97 | PARVATHIPURAM MANYAM | Regular | 175 | ST | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 525 | FROM KURUPAM TO P LEVIDI, ON EITHER SIDE OF SH81 | PARVATHIPURAM MANYAM | Regular | 135 | ST | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 526 | FROM HADDUBHANGI TO PALAKONDA ON EITHER SIDE OF SH89 | PARVATHIPURAM MANYAM | Regular | 120 | ST | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 527 | FROM KHADGAVALASA JUNCTION TO ADDAPUSILA ON EITHER SIDE OF SH1 | PARVATHIPURAM MANYAM | Regular | 175 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 528 | FROM APSRTC BUS STAND OF PARVATHIPURAM TO KUNERU ON EITHER SIDE OF SH4 | PARVATHIPURAM MANYAM | Regular | 170 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 529 | FROM PARVATHIPURAM TO SITANAGARAM ON EITHER SIDE OF SH4 | PARVATHIPURAM MANYAM | Regular | 185 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 530 | WITHIN SALUR MUNICIPALITY LIMITS (NOT ON SH116) | PARVATHIPURAM MANYAM | Regular | 210 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 531 | WITHIN 5 KM FROM RDO OFFICE, PALAKONDA TOWARDS PARVATHIPURAM ON EITHER SIDE OF SH1 | PARVATHIPURAM MANYAM | Regular | 145 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 532 | SALUR NEW NH 26 BYPASS (ON EITHER SIDE) | PARVATHIPURAM MANYAM | Regular | 180 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 533 | WITHIN 4 KM FROM YALAM CENTRE JUNCTION OF PALAKONDA ON EITHER SIDE OF SH1 TOWARDS SRIKAKULAM | PARVATHIPURAM MANYAM | Regular | 140 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 534 | GUMMALAXMIPURAM PANCHAYAT LIMITS NOT ON NH OR SH | PARVATHIPURAM MANYAM | Rural | 65 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 535 | FROM PEDAPADU (NEAR SRIKAKULAM) TO PYDIBHIMAVARAM ON LHS OF NH16 | SRIKAKULAM | Regular | 245 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 536 | FROM LAXMIPURAM TOLL PLAZA NEAR PALASA TO KARAPADU TOLL PLAZA ON LHS OF NH16 | SRIKAKULAM | Regular | 195 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 537 | FROM GUJARATHIPETA TO KAMMAVARIPETA ON EITHER SIDE OF SH128 | SRIKAKULAM | Regular | 185 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 538 | FROM CHALLAVANIPETA JUNCTION TO KOMANAPALLI FOUR ROAD JUNCTION ON EITHER SIDE OF SH106 | SRIKAKULAM | Regular | 125 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 539 | FROM SRIKAKULAM SUNRISE HOTEL TO AMPOLU VILLAGE ON EITHER SIDES OF SH1 | SRIKAKULAM | Regular | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 540 | FROM SARAVAKOTA TO PATHAPATNAM ON LHS OF NH 326A | SRIKAKULAM | Regular | 180 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 541 | FROM PATHAPATNAM TO SARAVAKOTA ON LHS OF NH 326A | SRIKAKULAM | Regular | 195 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 542 | FROM TEKKALIPATNAM TO MELIAPUTTI ON EITHER SIDE OF SH91 | SRIKAKULAM | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 543 | FROM PYDIBHIMAVARAM TO RANASTHALAM ON LHS OF NH 16 | SRIKAKULAM | Regular | 250 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 544 | FROM PEDAPADU (NEAR SRIKAKULAM) TO LAXMIPURAM TOLL PLAZA ON LHS OF NH 16 | SRIKAKULAM | Regular | 200 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | Minimum Diemnsion (in M) / Area of site Fin (in Sq M)* | | | Finance to be arranged by applicant | | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|--|------------------|------------|--|----------|-------------------|------------|---|------|----|-------------------------------------|-----------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 545 | FROM KARAPADU TOLL PLAZA TO LAXMIPURAM TOLL PLAZA NEAR PALASA ON LHS OF NH 16 | SRIKAKULAM | Regular | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 546 | FROM NARSANNAPETA (NARSANAPETA) TO SARAVAKOTA ON LHS OF NH 326A | SRIKAKULAM | Regular | 215 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 547 | FROM SARAVAKOTA TO NARSANNAPETA (NARSANAPETA) ON LHS OF NH 326A | SRIKAKULAM | Regular | 215 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 548 | SRIKAKULAM TOWN , (NOT ON NH AND NOT ON SH) | SRIKAKULAM | Regular | 240 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 549 | FROM DAY&NIGHT JUNCTION OF SRIKAKULAM TO SUB-REGISTRAR OFFICE SRIKAKULAM ON EITHER SIDE OF SH1 | SRIKAKULAM | Regular | 230 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 550 | WITHIN PALASA-KASIBUGGA MUNICIPAL LIMITS, (NOT ON ANY NH OR SH) | SRIKAKULAM | Regular | 185 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 551 | FROM PATHAPATNAM VILLAGE TO SUNDARADA VILLAGE ON EITHER SIDE OF SH 93 | SRIKAKULAM | Regular | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 552 | FROM LAXMIPURAM TOLL PLAZA NEAR PALASA TO PEDAPADU (NEAR SRIKAKULAM) ON LHS OF NH16 | SRIKAKULAM | Regular | 225 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 553 | FROM RAPAKA JUNCTION TO LOLUGU ON EITHER SIDE OF SH4 | SRIKAKULAM | Regular | 140 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 554 | FROM SARUBUJJILI FOUR ROAD JUNCTION TO BORRAMAMBAPURAM VILLAGE ON EITHER SIDE OF SH2 | SRIKAKULAM | Regular | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 555 | WITHIN NARSANNAPETA (NARSANAPETA) PANCHAYAT LIMITS (NOT ON NH OR SH) | SRIKAKULAM | Rural | 95 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 556 | WITHIN VARISAM VILLAGE LIMITS (NOT ON NH OR SH) | SRIKAKULAM | Rural | 60 | SC | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 557 | VIZAG CITY, MURALI NAGAR TO VENKOJIPALEM ON SEETHAMADHARA ROAD/HB COLONY ROAD ON EITHER SIDE | VISAKHAPATNAM | Regular | 300 | OBC CC 1 | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 4 |
| 558 | FROM PARADESIPALEM JN TO YENDADA JN ON LHS ON NH16 | VISAKHAPATNAM | Regular | 475 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 559 | IN VIZAG CITY, FROM TENNETI PARK TO THOTLAKONDA ON EITHER SIDE ON SH144 | VISAKHAPATNAM | Regular | 270 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 560 | IN VIZAG CITY, MADDILAPALEM JN TO JAIL ROAD JN ON EITHER SIDE OF JAIL ROAD/RESAPUVANIPALEM ROAD | VISAKHAPATNAM | Regular | 345 | OBC | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 4 |
| 561 | IN VIZAG CITY, FROM CONVENT JN TO SEA HORSE JUNCTION ON EITHER SIDE OF CHITTARANJAN MARG ROAD | VISAKHAPATNAM | Regular | 370 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 562 | IN VIZAG CITY, ALIPURAM JN TO LIC BUILDING ON EITHER SIDE OF ALLIPURAM MAIN ROAD | VISAKHAPATNAM | Regular | 335 | SC | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 563 | IN VIZAG CITY, KURMANNAPALEM TO DUVVADA ON EITHER SIDE OF DUVVADA VEPZ ROAD | VISAKHAPATNAM | Regular | 470 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 564 | IN VIZAG CITY, SALAGRAMAPURAM (SALIGRAMAPURAM) | VISAKHAPATNAM | Regular | 300 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 565 | WITHIN 4KM FROM BHEEMILI TO GAMBHIRAM ON EITHER SIDE ON SH9 | VISAKHAPATNAM | Regular | 380 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 566 | FROM ANANDHAPURAM JN TO GAMBHIRAM JN ON LHS ON NH16 | VISAKHAPATNAM | Regular | 330 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Diemnsion (in M) / Area of site (in Sq M)* | | Finance to be arranged by applicant | | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) | |
|--------|---|------------------|------------|--|-----------|-------------------|---|----|-------------------------------------|----|-------------------|---|--------------------------------------|----|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 567 | YENDADA JN TO PARADESIPALEM JN ON LHS ON NH16 | VISAKHAPATNAM | Regular | 450 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 568 | FROM GAMBHIRAM JN TO ANANDHAPURAM JN ON LHS ON NH16 | VISAKHAPATNAM | Regular | 420 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 569 | FROM NAD JN TO MVP JN ON EITHER SIDE ON NH16 | VISAKHAPATNAM | Regular | 380 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 570 | FROM GAJUWAKA TO AGANAMPUDI TOLL GATE ON NH16 ON LHS | VISAKHAPATNAM | Regular | 370 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 571 | FROM AGANAMPUDI TO GAJUWAKA ON LHS ON NH16 | VISAKHAPATNAM | Regular | 305 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 572 | IN VIZAG CITY, GANGAVARAM PORT TO JUG JUNCTION ON EITHER SIDE OF ROAD | VISAKHAPATNAM | Regular | 395 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 573 | IN VIZAG CITY, YENDADA JUNCTION TO RUSHIKONDA ON EITHER SIDE OF YENDADA- RUSHIKONDA ROAD | VISAKHAPATNAM | Regular | 330 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 574 | IN VIZAG CITY, SHEELANAGAR JN TO NARAVA ON EITHER SIDE OF NH516C IN VIZAG | VISAKHAPATNAM | Regular | 280 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 575 | IN VIZAG CITY, GAJUWAKA TO NAD JN ON EITHER SIDE ON NH16 | VISAKHAPATNAM | Regular | 300 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 576 | IN VIZAG CITY, FROM NAD JN TO PENDURTHI JN ON SH39 ON LHS | VISAKHAPATNAM | Regular | 250 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 577 | IN VIZAG CITY, MARIKAVALASA TO MADHURWADA IT PARK ON EITHER SIDE ON MARIKAVALASA ROAD | VISAKHAPATNAM | Regular | 300 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 578 | IN VIZAG CITY, BETWEEN SCINDIA AND GAJUWAKA ON EITHER SIDE OF GAJUWAKA-SCINDIA ROAD | VISAKHAPATNAM | Regular | 300 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 579 | VIZAG CITY, MIDHILAPURI COLONY TO IT JN ON EITHER SIDE OF 100 FEET ROAD | VISAKHAPATNAM | Regular | 250 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 580 | VIZAG CITY, HANUMANTHAVAKA JN TO SIMHACHALAM ON EITHER SIDE OF MUDASARLOVA ROAD | VISAKHAPATNAM | Regular | 250 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 581 | FROM THOTLAKONDA TO BHEEMUNIPATNAM ON EITHER SIDE OF SH144 | VISAKHAPATNAM | Regular | 200 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 582 | VIZAG CITY, PEDAGANTYADA TO GAJUWAKA MARKET ON EITHER SIDE OF BC ROAD | VISAKHAPATNAM | Regular | 240 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 583 | VIZAG CITY, SIMHACHALAM TO PINAGADI ON EITHER SIDE OF SH153 (SIMHACHALAM- PINAGADI ROAD) | VISAKHAPATNAM | Regular | 170 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 584 | BETWEEN SIRLAPALEM VILLAGE AND PADMANABHAM VILLAGE LIMITS ON EITHER SIDE OF SH138 | VISAKHAPATNAM | Regular | 105 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 585 | THAGARAPUVALASA TO BHEEMILI ON EITHER SIDE ON SH144 | VISAKHAPATNAM | Regular | 150 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 586 | VIZAG CITY, CAR SHED JN TO PM PALEM CIRCLE ON CAR SHED ROAD ON EITHER SIDE | VISAKHAPATNAM | Regular | 205 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |
| 587 | VIZAG CITY, FROM GOPALPATNAM TO NARAVA ON EITHER SIDE OF ROAD | VISAKHAPATNAM | Regular | 150 | OPEN CC 1 | сс | 18 | 18 | 400 | 32 | 12 | Bidding | 30 | 5 |
| 588 | FROM AGANAMPUDI JN TO DUVVADA RAILWAY STATION ON DUVVADA RAILWAY STATION ROAD ON EITHER SIDE | VISAKHAPATNAM | Regular | 200 | OPEN | DC | 18 | 18 | 400 | 32 | 75 | Draw of Lots | 15 | 5 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Diemnsion (in M) / Area of site (in Sq M)* | | | Finance to be arranged by applicant | | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) |
|--------|--|------------------|------------|--|-----------|-------------------|---|----|------|-------------------------------------|----|-------------------|---|--------------------------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 589 | WITHIN VISAKHAPATNAM MUNICIPAL LIMITS ON MAJOR ROADS OR ARTERIAL ROADS | VISAKHAPATNAM | Regular | 315 | SC CC 1 | CFS | 18 | 18 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 590 | MAHARAJUPETA TO DIVIS LABORATORY ON EITHER SIDE ON CHIPPADA ROAD IN VIZAG DISTRICT | VISAKHAPATNAM | Rural | 100 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 591 | WITHIN 1 KM FROM GARBHAM PANCHAYAT LIMITS (MERAKAMUDIDAM MANDAL) ON EITHER SIDE OF SH126 OR SH127 | VIZIANAGARAM | Regular | 150 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 592 | FROM NELLIMARLA-RAMATHEERTHAM ROAD JUNCTION TO SATHIVADA ON EITHER SIDE OF SH139 | VIZIANAGARAM | Regular | 155 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 593 | FROM KANIMETTA TO NATHAVALASA TOLL PLAZA ON LHS OF NH16 | VIZIANAGARAM | Regular | 230 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 594 | FROM NATHAVALASA TOLL PLAZA TO RAJAPULOVA JUNCTION ON LHS OF NH16 | VIZIANAGARAM | Regular | 225 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 595 | FROM BONDAPALLI TO GOTLAM ON LHS OF NH26 | VIZIANAGARAM | Regular | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 596 | FROM NATHAVALASA JUNCTION TO CHANADAKAPETA ON EITHER SIDE OF SH143 | VIZIANAGARAM | Regular | 125 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 597 | FROM BHIMASINGI TO ALAMANDA ON EITHER SIDE OF SH134 | VIZIANAGARAM | Regular | 130 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 598 | WITHIN VIZIANAGARAM MUNICIPAL LIMITS (NOT ON NH OR SH) | VIZIANAGARAM | Regular | 180 | OPEN | DC | 18 | 18 | 400 | 32 | 55 | Draw of Lots | 15 | 5 |
| 599 | FROM APSRTC BUS STAND, BOBBILI TO NARAYANAPPAVALASA ON EITHER SIDE OF SH4 | VIZIANAGARAM | Regular | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 600 | FROM CHELLURU TO GOTLAM ON LHS OF NEW NH 26 BYPASS | VIZIANAGARAM | Regular | 250 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 601 | FROM GOTLAM TO CHELLURU ON LHS OF NEW NH 26 BYPASS | VIZIANAGARAM | Regular | 225 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 602 | FROM GAJAPATHINAGARAM TO MARRIVALASA ON EITHER SIDE OF NH 26 | VIZIANAGARAM | Regular | 220 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 603 | FROM APSRTC BUS STAND, VIZIANAGARAM TO JAMMUNARAYANAPURAM ON EITHER SIDE OF SH 143 | VIZIANAGARAM | Regular | 210 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 604 | FROM VIZIANAGARAM COLLECTORATE JUNCTION TO PHOOLBAGH ON EITHER SIDE OF SH6 | VIZIANAGARAM | Regular | 170 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 605 | FROM BOPPADAM JUNCTION TO GARIVIDI ON EITHER SIDE OF SH130 | VIZIANAGARAM | Regular | 160 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 606 | FROM SANTHAKAVITI TO RAJAM ON EITHER SIDE OF SH120 OR EITHER SIDE OF SH121 | VIZIANAGARAM | Regular | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 607 | FROM KORLAM VILLAGE TO BOWDARA JN ON LHS OF NH 516E | VIZIANAGARAM | Regular | 180 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 608 | FROM BOWDARA JN TO KORLAM VILLAGE ON LHS OF NH 516E | VIZIANAGARAM | Regular | 185 | OBC | сс | 35 | 35 | 1225 | 32 | 12 | Bidding | 30 | 4 |
| 609 | FROM GANGUBUDI VILLAGE TO BOWDARA JUNCTION ON EITHER SIDE OF SH135 | VIZIANAGARAM | Regular | 190 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 610 | FROM SRUNGAVARAPU KOTA TO BHIMASINGI ON EITHER SIDE OF SH 145 | VIZIANAGARAM | Regular | 150 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |

| SI. No | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Diemnsion (in M) / Area of site (in Sq M)* | | Finance to be arranged by applicant | | Mode of selection | Fixed Fee / Min bid amount (Rs in Lakhs) | Security Deposit (Rs in Lakhs) | |
|--------|---|------------------|------------|--|----------|-------------------|---|----|-------------------------------------|----|-------------------|---|--------------------------------------|----|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 611 | VIZIANAGARAM MUNICIPAL LIMITS ON EITHER SIDE OF ANY NH | VIZIANAGARAM | Regular | 240 | OPEN | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 5 |
| 612 | FROM RAJAM TOWN TO POGIRI VILLAGE ON EITHER SIDE OF SH4 | VIZIANAGARAM | Regular | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 613 | FROM RAJAPULOVA JUNCTION TO CHELLURU JUNCTION ON LHS OF NH26 | VIZIANAGARAM | Regular | 245 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 614 | WITHIN JONNADA PANCHAYAT LIMITS (NOT ON SH AND NOT ON NH) | VIZIANAGARAM | Rural | 90 | OPEN | DC | 30 | 25 | 750 | 16 | 35 | Draw of Lots | 5 | 4 |
| 615 | FROM EEDURU TO PALAKODERU ON EITHER SIDE OF SH248 | WEST GODAVARI | Regular | 110 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 616 | FROM BHIMAVARAM TO AKIVIDU ON NH165 ON LHS | WEST GODAVARI | Regular | 160 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | Draw of Lots | 0 | 3 |
| 617 | BHIMAVARAM TO KALLA ON EITHER SIDE OF SH19 | WEST GODAVARI | Regular | 210 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 618 | BHIMAVARAM TO VEERAVASARAM ON EITHER SIDE OF NH165 | WEST GODAVARI | Regular | 170 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 619 | NARSAPURAM TO MOGALTURU ON EITHER SIDE OF NH216 | WEST GODAVARI | Regular | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 4 |
| 620 | FROM MOGALTURU TO KALIPATNAM ON EITHER SIDE OF NH216 | WEST GODAVARI | Regular | 160 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 621 | PALAKOL (DIGAMARRU BYPASS JUNCTION) TO CHINCHINADA TOWN ON EITHER SIDE OF NH216 | WEST GODAVARI | Regular | 170 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 622 | MARTERU TO ACHANTA ON EITHER SIDE OF SH219 | WEST GODAVARI | Regular | 110 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 623 | FROM PERAVALI TO TADEPALLIGUDEM ON NH216A ON LHS | WEST GODAVARI | Regular | 160 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 624 | TANUKU TO RELANGI ON EITHER SIDE OF SH248 | WEST GODAVARI | Regular | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 625 | MARTERU TO PENUMANTRA ON EITHER SIDE OF SH24 | WEST GODAVARI | Regular | 100 | SC PH | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 626 | GANAPAVARAM TO AKIVIDU ON EITHER SIDE OF SH256 | WEST GODAVARI | Regular | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 627 | PERAVALI TO PENUGONDA ON SH22 ON LHS | WEST GODAVARI | Regular | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 628 | FROM BHIMAVARAM TO RAMAYANAPURAM ON SH302 ON LHS | WEST GODAVARI | Regular | 110 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 629 | FROM BHIMAVARAM TOWN TO JUVVALAPALEM ROAD ON EITHER SIDE OF SH19 | WEST GODAVARI | Regular | 110 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 630 | ELAMANCHILI VILLAGE OF ELAMANCHILI MANDAL ON EITHER SIDE OF SH308 | WEST GODAVARI | Regular | 110 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 631 | WITHIN 3 KM FROM BHIMAVARAM MUNICIPAL LIMITS ON EITHER SIDE ON NH165 | WEST GODAVARI | Regular | 160 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | Draw of Lots | 15 | 5 |
| 632 | TANUKU TO GOPALAPURAM ON EITHER SIDE OF SH228 | WEST GODAVARI | Regular | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |

| si. r | No.I | Name Of Location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site * | Minimum Di | emnsion (in M (in Sq M)* | M) / Area of site | | e arranged by licant | | l amount (| Security Deposit (Rs in Lakhs) |
|-------|------|---|------------------|------------|--|-----------|-------------------|------------|-----------------------------|-------------------|----|-------------------------|-----------------|------------|--------------------------------------|
| 1 | L | 2 | 3 | 4 | 5 | 6 | 7 | 8a | 8b | 8c | 9a | 9b | 10 | 11 | 12 |
| 63 | 13 | FROM SEETHA RAMPURAMM TO TURPUTALLU ON EITHER SIDE OF ROAD ON SH314 | WEST GODAVARI | Regular | 120 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 63 | 4 | WITHIN IRAGAVARAM VILLAGE LIMITS ON EITHER SIDE OF SH228 | WEST GODAVARI | Regular | 110 | OBC PH | сс | 30 | 30 | 900 | 32 | 12 | Bidding | 30 | 4 |
| 63 | 15 I | PIPPARA TO GOLLAKODERU ON EITHER SIDE OF SH254 | WEST GODAVARI | Regular | 110 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 5 |
| 63 | 6 | SUNUPUDI TO TADERU ON EITHER SIDE OF SH229 | WEST GODAVARI | Regular | 110 | SC | CFS | 30 | 30 | 900 | 0 | 0 | Draw of Lots | 0 | 3 |
| 63 | 37 V | WITHIN AKIVEEDU VILLAGE LIMITS ON EITHER SIDE OF NH165 | WEST GODAVARI | Regular | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 95 | Draw of Lots | 15 | 5 |
| 63 | 8 1 | FROM GANAPAVARAM TO SARIPALLI ON SH232 ON LHS | WEST GODAVARI | Regular | 110 | OBC | DC | 30 | 30 | 900 | 32 | 75 | Draw of Lots | 15 | 4 |
| 63 | 19 V | WITHIN MADHAVARAM VILLAGE LIMITS IN TADEPALLYGUDEM MANDAL (NOT ON NH OR SH) | WEST GODAVARI | Rural | 80 | SC CC 1 | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years and 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.bharatpetroleum.in www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

| Type of RO | Type of Site | Category | Application fee in Rs. | Type of RO | Type of Site | Category | Application fee in Rs. |
|-------------|-----------------|----------|------------------------|---------------|-----------------|----------|---------------------------|
| | CFS | SC/ST | 3000 | | CFS | SC/ST | 2500 |
| | CC | OBC | 5000 | Dunal | CC | OBC | 4000 |
| Regular ROs | CC | Open | 10000 | Rural ROs | CC | Open | 8000 |
| | DC | OBC | 5000 | 1.03 | DC | OBC | 4000 |
| | DC | Open | 10000 | | DC | Open | 8000 |

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above. The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter. This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason. In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

| Territory | Districts Covered | Address | Contact No. |
|------------|--|--|--|
| Vizag | Srikakulam, Vizianagaram, Parvathipuram Manyam, Alluri Sitharama Raju, Visakhapatnam, Anakapalli, Kakinada, Dr. BR Ambedkar Konaseema, East Godavari, West Godavari, Yanam | Mr. Ankit Mahapatra 9437080856 Ph: 0891-2868702 | |
| Vijayawada | Krishna, NTR, Guntur, Bapatla Palnadu, Prakasam, Eluru | Territory Coordinator (Retail), Bharat Petroleum Corporation Limited, Kattubadipalem (Post), Kondapally, Vijayawada - 521228 Andhra Pradesh | Mr. Varun Ramdas 9446479076 Mr. Rakesh Rai 9448994473 Mr. Vaibhav Patel 7002568711 |
| Nellore | SPSR Nellore, Kurnool, Nandyal, Ananthapuramu, Sri Sathya Sai, Y.S.R, Annamayya, Chittoor, Tirupati | Territory Coordinator (Retail), Bharat Petroleum Corporation Limited, D. No. 26-3-171/1, Mini Bypass Road, Bhaktavatsala Nagar, Nellore - 524004 Andhra Pradesh | Mr. Subhash Chandra Mynam 9849213748 Ph: 0861 - 2343486, 2343496 Mr. Guru Sai Dhanush 8760929914 |